35 7 M 5 ) 275 B

NINGBO DONGZHOU TRANSMISSION CO., LTD.

www.nbdongzhou.cn
2016



A iEE iE

T EHES

Wl AR ML ) 4 81

FE NI 8, (COF AT R i R
ISO/TS 16949:2009

VR
R LR TR

NSF International Strategic Registrations

ARAFEM AR

prap— mang

Ji B RIS

THEEHRIESFERAT
o BRI 9 i T R S i P X LK L
156 &
PO BT ] Sire Certification Servies 1

1S09001: 2008 ##HE

it ok i)

v—= DONGZHOU
%L COMBANY

www.nbdongzhou.cn

©

QUALITY MANAGEMENT SYSTEM
CERTIFICATE

This is b Cenify that the Guality Mansgement Sy sl of

NINGEQ PONGEHOU TRANSMISSION O, LTD,

. 155 Road
Dowgyian Lake tndustrial Zowe
Mingha

PR Ching

has heen nesessed by Sirs Censfication Service
snd found 1 comply with

15O 9001: 2008
fr dhe

Manifiscsre snd suie o dircbaiird poarts.

i

Mingbo Dongzhou Transmission Co., Ltd. Yinzhou Branch

has b msessnd By NSF-SE ar Foud b be i co TNy ——

Certificate of Registration

bt e Cra af

Nl

iy g, e
Ningha iy, Fhajeng

ISO/TS 16949:2009

Scnpe of Rephirasio:
Wiasritur o Bl Soines, U Forks and Sphverboal Plain Bearligs

Enchusinn: Product Devgn

NSF Interational Strategic Registrations
et i vt s Rhcgan ETES | 1885 55T HO0D | ke




/NSIETA
COMPANY PROFILE

MEFREZE-TR, WP, TREMENHERATURT 20065F , E—REMK.
HiE. BB —ERGEE. IRKEL, AFEFRE3005AEAEENMIRENSAEW
SMRENES  ETEEFBLILKE, SARL. ML, FRATEER. AOXBH]E
ERERIHTRME. REETLURBE P RERERITETE LIRS,

REFARZEREW , LU T, #E RE. BIF" AATW , BIREF. SIHSEEAT
ERAEE. K. BRBZFZER. ZFBOTWATIA. LA "UR™ @, KRN
B, MBNRS" ARE FREREFAEX , GinE, FEXREEFHIEFTEE S8 HH
HRILETBNRENE., ERIEFRRENEN  FEESIAKA , WUCEFRE  BEN
£, BRETHES , AEFPREESENICHNT R, TREREGEFERONREN , HEEEH
KFETE , TS, DRGIHEBEMAHRENHENEESTAHNEINEERTEF
B, REHNREEF. TEEMABNAWENT , RIEKEBEI TIS09001 : 2008 1
ISO/TS16949 : 2009 FEEFEIKEK,

LURSERZ , SfFERNES  SEFHNNHEHERE  FEN~ %  EROURERSE <=
NERERS BN~ RBEEAR |, mHRE. PRERFEIFEREX , 8255k

TEREMENHBRARIBRAFSEBEFHEFIENERR !

Established in 2006 and located in Ningbo, Ningbo Dongzhou Transmission Co.,Ltd is
a modern enterprise integrated with R&D, manufacture and trading. Dongzhou is
specialized in manufacturing Clevises, Bolts, Clips, Rod Ends, Radial Spherical Plain
Bearing, Ball Joints, Connectors of Pneumatic Cylinders and Hydraulic Cylinders, etc.
Meanwhile, non-standard products can be designed and putinto production as per
samples or drawings accordingly.

Well equipped with more than 300 all kinds of precision machining equipments and
professional testing instruments, Dongzhou holds the police of “excellent products,
reasonable price and remarkable performance” , pursuing the superiority in 3 P (products,
price and performance). It dedicates to explore new products and markets as well as
introduction of advanced equipments to optimize production and mastery of advanced
techniques to achieve self-improvement.

With joint-effort of Dongzhou staff, our company has got1SO9001:2008 and ISO/TS16949
qualification. Based on the service principle of faithfulness, customer-oriented &
win-win, our products are well welcomed both at home and abroad markets like USA,
Europe, Middle East, Southeast Asia, etc.

Sincerely welcome to join hands with us to create a more prosperous future!



Clevises, Clips
and Pins

Rad?al Sphe.rical Hardivaras Steering and
PlainaBearings Suspension BallJoints

i U2 R-FK 2% DIN71752 / DIN ISO8140 / CETOP N N
Clevises - FK Series DIN71752 / DIN ISO8140 / CETOP

bevelling 30° 45

#E RsF mm = REKG
Part No. Dimensions Weight
d g a b d d f | r
W 405 M 81 i F az 2

suid pue sdi|) ‘sasina|d & alrsaaaﬁammunl

FK4x8 4 88 B8 8 4 4 B13 M4x0.7 8 05 21 16 £0.3 6.0 0.5 0.005
FK4x<16 4 186 8 8 4 4 B13 M4x0.7 8 05 429 24 +0.3 6.0 0.5 0.007
FK5x10 5 10 10 10 5 5 B13 M5x0.8 9 0.5 26 20 +0.3 7.5 0.5 0.009
FK 5320 § 20 10 10 5 5 B13 M5%0.8 9 5 36 300 £0.3 7.5 0.5 0.013
FK6x12 6 12 12 12 & 6 B13 M6 1 10 05 31 24 +03 9.0 0.5 0015
FK6X24 6 24 12 12 & 6 B13 MEx 1 10 05 43 36 #0.4 9.0 0.5 0.021
FKE <16 8 16 16 16 8 8 B13 M8x1.25 14 05 42 32 +0.4 12.0 0.5 0.037
FK8<16FG 8 16 16 16 8 8 B13 M8x1 14 0.5 42 32 0.4 12.0 0.5 0.037
FK8x32 8 32 16 16 8 8 B13 M8x1.25 14 05 58 48 10.4 12.0 0.5 0.054
FK8x32FG 8 32 16 16 8 8 B13 M8x1 14 05 58 418 0.4 12.0 0.5 0.054
FK10x20 10 20 20 20 10 10 B13 M10x1.5 18 05 52 40 +04 150 0.5 0.074
FK10%20FG 10 20 20 20 10 10 B13 M10x1.25 18 05 52 40 +0.4 15.0 0.5 0:.074
FK 1040 10 40 20 20 10 10 $%ls M10x1.5 18 05 72 60 +0.4 15.0 0.5 0.116
FK10x40FG 10 40 20 20 10 10 M10x%1.25 18 05 72 60 +0.4 15.0 JUSSNP0. 116
FK12x24 12 24 24 24 12 12 M12X1.75 20 05 62 48 +0.4 18.0 0.5 0.121
FK12x24FG 12 24 24 24 12 12 481s M12x1.25 20 05 62 48 +0.4 18.0 0.5 0421
FK12x48 12 48 24 24 12 12 0% M12x1.75 20 05 86 72 +0.4 18.0 0.5 0.175
FK12xX48FG 12 48 24 24 12 2 815 M12x1.25 20 05 86 72 +0.4 18.0 0.5 0.175
FK 1428 14 28 27 27 14 14 3l M14x2 24 1.0 72 56 +0.4 225 1.0 0.178
FK14x28FG 14 28 27 27 14 14 i M14x15 24 10 72 56 +0.4 225 1.0 0.178
FK 1456 14 56 27 27 14 14 %0 M14x2 24 1.0 101 85 +04 225 1.0 0.258
FK14x56FG 14 56 27 27 14 14 31 M14x1.5 24 1.0 101 85 +0.4 225 1.0 0.258
FK 1632 16 32 32 32 16 16 1 M1622 26 1.0 83 64 +0.4 240 1.0 0.282
FK16x32FG 16 32 32 32 16 16 M16x1.5 26 1.0 83 64 +0.4 240 1.0 0.282
FK 1664 16 64 32 32 18 16 M16x2 26 1.0 115 96 +0.4 240 1.0 0411
FK16<64FG 16 64 32 32 16 16 3%s M16xX156 26 1.0 115 96 +0.4 24.0 1.0 0.411

-03-



ae Rsf mm
Part No. Dimensions

d g a a, b, b, d, d,
FK18x36 18 36 36 36 18 18 1T M18x25 30
FK18x36FG 18 36 36 36 18 18 Wi M18X1.5 30
FK20%40 20 40 40 40 20 20 :fls  M20x25 34
FK20x40FG 20 40 40 40 20 20 3]s M20%1.5 34
FK20%80 20 80 40 40 20 20 if}; M20x25 34
FK20<80FG 20 B0 40 40 20 20 s M20x1.5 34
FK25%x50 25 50 50 50 25 25 47, M24x3 42
FK25%60FG 25 50 50 50 25 25 3], M24x2 42
FK28x56 28 56 55 55 28 28 iff; M27x3 48
FK28%56FG 28 56 55 55 28 28 s M27x2 48
FK30X54FG 30 54 55 55 30 30 17, M27x2 48
FK30X60 <30 60 60 60 30 30 il M30x35 52
FK30x60FG 30 60 60 60 30 30 37, M30x2 52
FK35x54FG 35054 70470 035 35 s M36X2 6O
FK35x72. 35 72 70 70 35 35 i§l.  M3gx4 60
FK35%X72FG 35 72 70 70485 35 8, M36X2 60
FK36x72 35 72 70 70 36 36 127, M36x4 60
FK36X72FG 35 7270 70 36 36 s M36%2 60
FK40%X84FG 40 84 85 85 40 40 37, Ma2x2 70
FK42x84 42 B4 85 85 42 42 il M42x45 70
FK42X84FG 42 84 85 85 42 42 i M42x2 70
FK50%96 50 96 96 96 50 50 fl;  M48x§ 82
FK50X96FG 50 96 96 96 50 50 37 M48x2 B2

BRWES BT -FG, £ - LH, EFLRE-FGLH
HESEELEL

1) (EEFQ235A; T WM . Wi H RN,

2) EAAFREI0N  FHRIRI03 , FIIRIL6  BEMCLE.
3) B 6061 | REAETEBRAL.

4) ENEEPRMIMS | RELIEE . @EREERLE.

Code of thread: fine-pitch thread - £G, left-handed thread - LH, fine-pitch and left-handed thread-FGLH
Material and surface treatments:

1) Low carbon steel Q235A; Coated with rust-proof oil zinc plating or nickel plating

2) Alternative stainless steel 304, stainless steel 303, stainless steel 316; Surface passivation

3) Alternatife aluminum 6061; Surface cleaning, or anodizing finish

4) Alterpative medium carbon steel 45; Coated with rust-proof oil, zinc plating or nicke! plating

1.0
1.0
1.0
1.0
1.0
10
1.5
18
1.5
15
1.5
1:5
1.5
2.0
20
20
20
2.0
3.0
3.0
30
3.0
3.0

94
94
105
106
145
145
132
132
148
148
148
160
160
188
188
188
188
188
232
232
232
265
265

72
72
80
80

120

120

100
100

12
112

110

120

120

144

144

144

144

144

168

168

168

192

192

Variation

104
+0.4
£0.4
+0.4
=0.4
+0.4
+0.4
+0.4
+0.4
+0.4
+0.4
+0.4
+0.4
£0.4
£0.4
+0.4
+0.4
+0.4
+0.4
+0.4
+0.4
4
+0.4

270
27.0
300
300
300
300
36.0
360
40.0
400
40.0
420
420
54.0
540
54.0
54.0
54.0
63.5
635
63.5
730
730

Clevises with Male Thread FT Series DIN71752 / DIN ISO8140 / CETOP |

bevelling 30" +15

1.5
1.5
1.5
1.5
1.5
15
1.5
15
2.0
20
20
20
20
3.0
3.0
3.0
3.0
3.0
5.0
5.0
5.0
5.0
50

roughly
centri

HEKG
Weight

0.39
0.39
0.55
0.55
0.80
0.80
1,10
1.10
1.50
1.50
1.44
1.97
1.97
2.93
2.93
2.93
2.3
2.93
5.64
5.34
5.34
7.86
7.86

Uit R -4MBAIFT Z%5) DIN71752 / DIN 1S08140 / CETOP B

iR R mm
Part No. Dimensions
d, g a a, d; f
HE£05 0 opBg 0T Teguariesd  Frewlhivesd 402
FT6x12 6 12 12 12 & M6 1 = 0.5
FT8X16 8 16 18 16 8 M8x1.25 - 0.5
FT10x20 10 20 20 20 10 M10%1.5 - 0.5
FT12%24 12 24 /24 24 12 M12x%1.75 0.5
FT14x28 14 28 27 21 14 M14x2 — 1.0
FT 1632 16 32 32 32 16 M16x2 == 1.0
FT20<40 20 40 40 40 20 M20x2.5 o 1.0

BENE : @F-FG, AR -LH, EFERR - FGLH
WHSEEEES

1) : i,
2) UIBAFHWI0 FER03 , FHIWIL6 | FEPLLE
3) ANEAE 6061 , WERR ; SRMIDMELL.

4) | RELWRE, . N

Code of thread: fine-pitch thread - FG, left-handed thread - LH, fine-pitch and left-handed thread-FGLH
Material and surface treatments:

1) Low carbon steel Q2354; Coated with rust-proof oil, zinc plating or nickel plating

2) Altemative staintess steel 304, stainless steel 303, stainless steel 316; Surface passivation.

3) Alterative aluminum 6061; Surface cleaning or anodizing finish

4) Alternative medium carbon steel 45; Coated with rust-proaf oil, zinc plating o nickel plating.

44
57
89
B2
94
108

134

v

47

57

68

78

89

02

20
25
30
35
40
45

55

20
25
30
35
40

50

0.8

0.8

0.8

0.8

1x45" orR1max.
L txds orRimax;

EEKG
Weight

0.015

0.036

0.068

0.122

017

0.288

0.550

7
Fi 3
fa]
0
S
o
o
g
0]
=5
w
o
S
a
!
3
a

3
ki
b3
(a]
)
o
v
®
!
()
z
wv
o
=
a
=
=
a

d pue sdij) ‘sasina|D B * 3-GE:

sSul,

=
a
o
=
w
o
)
N

=
w
o
3
o
l
5
wn

B EFE U LFKRET

Clevises with Rotating Shaft- FKR Series =

Rotating Shaft

g R mm
Part No. Dimensions
a b d d, d, I, I Iy 4

FKR4x8 8 4 4 M4 8 8 16 21 3.0
FKR4x16 8 4 4 M4 8 16 24 29 3.0
FKR5x10 10 5 5 M5 9 10 20 26 4.0
FKR5x20 10 5 5 M5 9 20 30 36 4.0
FKR6x12 12 6 6 M8 10 12 24 31 5.6
FKRG6 %24 12 6 6 M8 10 24 36 43 85
FKR8x16 16 8 8 M8 14 16 32 42 8.0
FKR8x32 16 8 8 M8 14 32 48 58 80
FKR10x20 20 10 10 M10 18 20 40 52 1155
FKR10x40 20 10 10 M10 18 40 80 72 ".5

FKR12x24 24 12 12 M2 20 24 48 62 14.0
FKR12:x48 24 12 12 M12 20 48 72 86 14.0
FKR14x28 27 14 14 M14 24 28 56 72 18.5
27 14 14 M14 24 56 85 101 18.5
FKR16x32 32 18 16 M16 26 32 64 83 20.0
FKR16x64 32 16 18 M16 26 64 96 15 20.0

FKR14 % 56

AN : EF -FG, AR~ LH, EFEEN - FGLH

HESERLESL :

VR : [EBIMQ235A | RALLMWH , @R EEWLE,

R PERES  RELBEE  ARSganhE,

£H RN RELWRE  EEEasRL,

Code of thread: fine-pitch thread - FG, left-handed thread ~ LH, fine-pitch and |&fi-handed thread-FGLH.
Material and surface treatments:

Fork: low carbon steel Q235A; Coated with rust-proof oil, zinc plating or nickel plating.

Shaft: medium carbon steel 45; Coated with rust-proof oil,zinc plating @ nickel plating,

Ring: spring steel; Coated with rust-proof ol zinc plating or nickel plating.

UR¢Z-FUEFI

Clevises-FU series ¢

24
24

2 A

I

B Rt inch
Part No. Dimensions
Thread A B c D E F G
018 +.128 . 018 01 . .
Class 2B =01 1 a0 o a0 i o
FU-5-40 5-40 0437 Thru 0.250 0.250 0.130 0.140 0.128
FU-10-32 10-32 0750 0375 0375 0375 0490 0218 0187

FU-1/4-28 1/4-28 0937 0500 0.500 0437 0.255 0.281 0250
FU-5/16-24 5/16-24 0.937 0.500 0.500 0437 0.255 0.343 0.250
FU-3/8-24 3/8-24 1.312 0.750 0.750 0.562 0.380  0.406 0.375
FU-T/16-20 7/16-20 1.312 0.750 0.750 0,562 0.380 0.468 0.376
FU-1/2-20 12-20 1312 0750 0.750 0.562 0.380 0.531 0.375
FU-5/8-18 5/8-18 2.250 1.000 1.000 1.000 0.505 0.656 0.500

19 - E=ofin AN B0FU-5-40UH,
HEASEWREEL

1) E@N0235A | WMl LM , @ AENLE,

2) SIARITRII04 | FEB03, FIRID1E  FERLLE
3) B ARIBE6061, HENEREHRRL,

Code of thread: left-handed thread - LH, E.g FU-5-40L1

Material and surface treatments:

1) Low carbon steel Q235A: Coated with rust-proof il zine plating or nicke! plating

2) Alternative stainless steel 304, stainless stée) 303, stainless steel 316; Surface passivation
3) Alternative sluminum 6061; Surface cleaning or anodizing finish

Radius J/

0.562
0.937
1.187
1.187
1.687
1.887
1.687
2.750

E®KG
Weight

. 006
008
010
014
016
023
038
055
. 080
120
125
180
190
265
. 300
. 430

oo oo o0 6 00 00 o060 oo

Thru
Thru
Thru
0.625
Thru
0875
0.875
11256



URs-FCE

Clevises-FC series w

<

Be RF inch
PartNo. Dimensions

B [} D E L
00 4 e
FC4.5 2.250 0.250 1.250 0.875 40 1.200
FC5:5 2.250 0.313 1.250 0.875 a0 1.290
FC5-6 2.250 0.313 1.250 0.875 36 1.290
FC5-8 2.500 0313 1.500 1.000 38 1.540
FC6-8 2.500 0.375 1.500 1.000 38 1.540
FC6-10 8.375 0375 2.000 1.125 24 2.040
FC&-12 3.375 0.375 2.000 1125 18 2,040
FC7-8 3.375 0.438 2.000 1.125 30 2.040
FC7-10 3.375 0.438 2.000 1.125 24 2,040
FC8-10 3.375 0.500 2.000 1.125 24 2.040
FC8-12 3.375 0.500 2.000 1125 18 2.040
FC8-12-1 3.375 0.500 2.000 1.125 18 2.040

ERAS : ZWR - LH, WFCS-5LH,

HASHELELR |

1) PRRiRaS | WA CR R | IRIPELE WAL,

2) FEAAEGRI04 , FEWI03, FHS6, REAELE
3) TEMIBC061 , FEWRLE BRI,

4) TEMA SRWISCrMo; BELMAE , MIPNEROLE,

Code of thread: left-handed thread - LH, £.g. FCS-SLH.
Material and surface treatments:

1) Medium carbon steel 45; Coated with rust-proaf oil, zine plating or nickel plating

2) Alternative stainless steel 304, stainless steel 303, stainless steel 316; Surface passivation.
3) Alternative aluminum 6061; Surface cleaning, or anodizing finish.

4) Altéative alloy steel 35CrMo; Coated with rust-proaf oil, zinc plating of nickel plating,

AR#ESL-FKEZE]

Knuckle Eyes = FKE Series mmmm

<
Be Rt mm
Part No. Dimensions
Thread A B c
o a0 w0 i
a
FKES M5x0.8 22 6.10 9.00
FKES ME=1 25 8.10 10.50
FKEB M8x1.25 32 8.10 12.70
FKE10 M10%1.5 32 10.10 12.50

WRWE : H©F -FC, ERW-LH , SFFER - FGLH
MHSEERLEER :

1) i B LW, .

2) FIRAAFRIAI04 , THWIN303 . FiRI316  REWILLE
= | W R . .

Code of thread: fine-pitch thread - FG, left-handed thread - LH, fine-pitch and left-handed thread-FGLH
Material and surface treatments:

1) Low carbon steel Q235A; Coated with rust-proof oil, zinc plating or nickel plating:

2) Alternative stainiess steel 304, stainless steel 303, stainiess steel 316; Surface passivation

3) Alternativa medium carborn steel 45; Coated with rust-praof oil, zine plating or nicke! plating

o
0.550
0.550
0.550
0.550
0.550
0.550
0.800
0.550
0.700
0.700
0.800
0.700

25

12.50
14.00
18.00
18.00

S

=005

0.188
0.188
0.188
0.250
0.250
0.375
0.375
0.375
0.375
0.375
0.250
0.375

T

<005

0625
0.625
0.625
0.750
0.750
0.825
0.825
0.825
0.825
0.825
0.825
0.825

012

12.70
12.70
16,00
16.00

SECTIONA-A

w12

5.00
6.00
8.00
10.00

N
Thresd
i -3A

5/16-24
5/16-24
318-24
1/2-20
112-20
S518-18
3/4-16
1/2-20
5/8-18
5/8-18
3/4-16
3/4-16

{a}
=
=
@
b
@
o
=
“v
o
5
a
)
=
2

-10-

GHE

suig pue sdi|) ‘sasinald B

G

suld pue sdi|D ‘sasina|) & ' 3-GH

a1

IR#EL-FERTI

Knuckle Eyes — FE Series s

B Rt mm

= Part No. Dimensions

,*,.

2 d, q a, a, b d

R He 08 W i 02 Teguarthesd

n

o FE4xs 4 6 8 B 4  MAXOT

g FESx10 5 7.5 10 10 5 M5x0.8

'f_'! FE6x12 6 9 12 12 6  M&x1

:’aﬁ' FEB<16 8 12 16 16 8 M8x1.25

o FEBx16FG 8 12 16 16 B Mex 1

2 FEt0x20 10 15 20 20 10 M10X15§

2 ketoxa0 10 15 20 20 10 M10%1.25

e FE12x24 12 18 24 24 12 M12x1.75
FE12x24FG 12 18 24 24 12 M12x1.25
FE14x28 14 21 27 27 14 M14x2
FE14x28FG 14 21 27 27 14 M14%1.5
FE 16%32 16 24 32 32 16  Migx2
FE16x32FG 16 24 32 32 16 M18X1.5
FE 20 40 20 80 40 40 20 M20%25
FE20%40FG 20 30 40 40 20 M20%1.5

BENE : EF - FG, DWE- LTI FGLH
HRSEELBRGRN
1) | R LA ? 1

2) AAAFRIEI04 , FIRIWEI03 , FRWILG ; TR
3) SHAMISE061 | Rl M E DRI,
4)

L RE LR

al and surface treatments:
1) Low carbon steel Q235A; Coated with rust-proof oil, zinc plating or nickel plating

2) Alternative stainless steel 304, stainless steel 303, staintess steel 316; Surface passivation

3) Alternative aluminum 6061; Surface cleaning or anodizing finish,

4) Alternative medium carbon steel 45; Coated with rust-proof oil, zine platidg ar nickel plating

B T ERERFT 51

Self-aligned Articulated Couplings FI Series =

0.5
0.5
0.5
0.5
0.5
0.5
0.5
0.5
0.5
1.0
1.0
1.0
1.0
1.0
1.0

F thread: fina-pitch thread - FG, left-handed thread - LH, fine-pitch and 1&{t-handed thread-FGLH

21
26
31
42
42
52
52
62
62
72
72
83
83
105
105

is Rt mm
Part No. Dimensions
d, d, d, kk i | L L
FI-M4X0.7 ! I 38 M4x0.7 330 240 165 4.5
FI-6-32 / /38 6-32UNC28 330 240 165 4.5
Fi-10-32 i / 3.8 10-32UNF-2B 330 240 165 45
FI-M5X0.8 145 85 58 M5X0.8 38.5° 250 475 4.4
Fi-M6X1 145 85 58 MeX1 37.0 250 175 4.4
FI-M8X1.25 190 125 78 MBX1.25 49.0 340235 6.0
FI-5/16-24 19.0 125 7.8 5/16-24 UNF-2B 490 340 235 6.0
FI-M10X1.5 32.5 214 13.8 M10X1.5 67.5 49.5 340 9.0
FI-M10X1.25 32.5 214 138 M10%1.25 69.5 49.5 340 9.0
Fi-3/8-24 32.5 214 13.8 3/8-24UNF-2B  69.5 49.5 340 9.0
FI-M12X1.75 325 214 138 M12X1.75 70.5 495 340 9.0
FI-M12X1.25 325 214 138  M12x1.25 745 505 340 10.0
Fl-1/2-20 325 214 138 1/220UNF-2B 745 505 340 100
FI-M16X2 45.0 33.8 220 M16X2 97.0 71.0 53.0 100
FI-M16X1.5 450 33.8 220 M16x1.5 103.0 71.0 53.0 10.0
Fi-5/8-18 45.0 33.8 220 5/8-1BUNF-2B 103.0 71.0 53.0 100
FI-M20X1.5 450 338 220 M20x1.5 120.0 80.0 530 19.0
FI-3/4-16 450 338 220 3/4-16UNF-2B 1200 800 530 190
Fl-mM27x2 62.0 61.7 278 M27x2 156.9 10289 78.0 122
Fl-1-92 62.00 61.7 27.9 1-12UNF-2B  156.9 1029 79.0 122
FI-M36X2 80.0 80.0 380 M36x2 251.0 179.0 136.0 22.0
Fl-11/2-12 80.0 800 380 11/2-12UNF-2B 251.0 179.0 136.0 22.0
HEREERES .
B, R 0CrMo , 1ML, BT,

S e 88 : EKRQIISA. TWEHR,
TEATWRI0AE, RERILLE,

Material and surface treatments:

Ball stud and spherical washer: 20CrMo; Heat treatment and zinc plating
Housing, threaded bushing and hex nut: low carbon steel Q235A; Zine plating.
Alternative material: stainless steel 304, Surface passivation

L,

12.5
12.5
128
1.5
115
14.0
14.0
23.0
23.0
23.0
23.0
240
240
32.0
320
32.0
41.0
410
42.0
42.0
78.0
78.0

16.0
16.0
16.0
16.7
15.7
20.5
205

310
31.0
310
32.0
32.0
44.5
44.5
44.5
535
53.5
62.6
62.6
1100
1100

SW, SW,
n on
1 1
11
137
13 7
17 10
1710
30 19
30, 19
30 19
20 19
30 19
30 19
41 30
4 30
41 30
41 30
41 30
55 55
55 55
75 75
75 75

g2

o]

10.0
12.5
15.0
200
20.0
25.0
250
300
30.0
35.0
35.0
400
40.0
50.0
50.0

S 90° v

E#®KG
Weight

0.008
0.012
0.021
0.051
0.051
0.088
0.098
0.168
0.167
0.247
0.245
0.397
0.385
0783
0.778

EBKG
Weight

0.015
0.015
0.015
0.020
0.023
0.050
0.050
0.210
0.210
0.210
0.210
0.215
0.215
0.670
0.650
0.650
0.720
0720
2.100
2.100
5.800
5.800



EA $547-PCR7

Bolts-PC Series

BT ERYIRENIE - CL 55
Folding Spring Bolts - CL Series &

1
k [
24
1 *
i) = —————— - ©
: !
| f
z, d,
Rt mm EEKC
s R MUY Rt mm ERKG Part No. Dimensions Weight
PartNo. Suitable for clevis Dimensions Weight s
= d d, d I, ! k zZ z
; 9 a b I " I, ® " Wit i o8 e jore : ¥0/100 paces
b Kartadipiaces A
§ PC4 4 8 1.0 12 10.0 1.0 0.5 08 0.13
X g o X X ¥ =.
CLaxs FK4x8 4 8 9.5 1.0 19.0 15.0 45 0.145 z = 5 & = = P o= &5 — —
CL4 <16 FKa: 16 4 16 9.5 1.0 26.0 235 45 0174
!:\ PC8 ] ] 16 18 15.3 45 05 1.0 0.46
CI5x10 FK5%10 5 10 12.0 13.5 23.0 19.0 55 0.254
£r PC8 8 12 2.0 23 19.5 20 1.0 1.0 1.00
CL5%20 FK5 %20 5 20 12.0 13.5 33.0 290 5.5 0.310 4
o PC 10 10 14 32 29 245 20 1.0 1.5 1.90
cLBx12 FKGx12 6 12 14.0 16.0 280  23.0 6.5 0.458 5
a PC12 12 17 4.0 35 29.5 3.0 15 16 3.40
CL6%24 FIC6 24 6 24 14.0 16.0 40.0 35.0 6.5 0.516 o
= PC14 14 19 4.0 40 325 3.0 15 1.8 5.30
CLBX16 FK8X 18 8 16 19.0 21.5 370 300 8.0 1.059 2
FC16 16 20 4.0 45 38.2 35 1.5 1.5 7.20
cL8x32 FK8x32 8 32 19.0 215 520  48.0 8.0 1.155
PC 18 18 25 5.0 50 435 3.5 1.5 1.5 104
cL10x20 FK10x20 10 20 23.0 26.0 46.0 38.0 10.0 1.938
PC20 20 28 5.0 53 47.0 4.0 2.0 1.6 13.9
CL10%40 FK10x40 10 40 23.0 26.0 66.0  58.0 10.0 2.046
PC25 25 34 6.3 67 59.0 55 3.0 15 26.6
CL12%24 FK12x24 12 24 28.0 310 53.0 450 120 3.306
PC 28 28 34 6.3 72 63.2 55 3.0 20 36.1
CL12x48 FK12x48 12 a8 28.0 31.0 780  69.0 12.0 3.500
PC 30 30 38 6.3 67 59.0 5.5 3.0 20 38.3
CL14x28 FK14x28 14 28 31.0 34.0 620 520 14.0 4.722
PC30-1 30 36 6.3 77 68.2 5.5 3.0 20 42.8
CL14%56 FK14%56 14 56 31.0 34.0 92.0 820 14.0 5.076
PC35 35 45 8.0 87 76.5 7.0 3.0 2.0 67.7
CL16%32 FK16x32 16 32 36.0 39.0 73.0 620 16.0 6.940
PC 40 40 48 8.0 100 90.0 6.0 3.0 5.0 103.5
CL16%864 FK1664 16 64 36.0 3900 1080 920 16.0 7.440
PC 42 42 48 8.0 100 90.0 7.0 3.0 5.0 1151
CL20%40 FK20%40 20 40 45.0 50.0 876 7156 16.0 13.00
PC 50 50 58 10.0 115 103.0 7.0 3.0 6.0 184.6
HESEELES -
1) {E#IEQ235A | BELIAM , Wit @atE,
2) FARMFERI , FEEI03 , FEEIL6 , RERLLE
HESERLES : i &
8 : EEIRQ2ISA | 3 : WM , WA5430-500HV, 3) TAAE6061 , FEAR : BEBRUL
ool gt o iy 4) TRMGHEAS | R LR S S ERGE,

Material and surface treatments: Material and surface treatments:

Bolt: low carbon steel Q235A; Spring: spring stee, hardness approx, 430-500HV. 1) Low carbon steel Q235A; Coated with rust-proof oil, zinc plating or nickel plating

Coated with rustproof oil, zine plating or nickel plating 2) Alternative stainless steel 304, stainless steel 303, stainless steel 316; Surface

3) Alternative aluminum 6061; Surface cleaning, or anadizing finish

4) Alternative medium earbon steel 45; Coated with rust-praof oil, zine plating or nickel plating

-13-
BET-PMESI NG OMPANY BET-PFERA
Bolts-PM Series Bolts-PF Series 1

& J®
d. @

s R~ mm & #iKG
#oe BEN R mm E @KC Part No. Dimensions Weight
Part No. Suitable Dimensions Weight %
o : d, i d. I z m
PM-K  PM-S d, d, I I, dy m z Z hi' 3 w0 wo'm Raipissss
i vy 15 103 w4 ay 01 K100 pleces ﬁ n o o
a] o PF6 6 17.0 5.7 125 0.5 0.80 0.005
PM ¢ 4 4 4 6 105 85 10 32 084 05 050 0.12 & =
@ o PF8 8 20.0 7.6 166 0.5 0.90 0.008
PM5 5 5 5 8 130 105 15 40 074 05 050 0.24 2 o
= o PF10 10 25.0 9.6 205 0.5 1.10 0.015
PM6 8 8 8 9 155 125 15 50 074 05 075 0.42 o) 5
o n PF12 12 300 1.6 245 1.0 110 0.026
PM & 8 8 B 12 200 16.5 2.0 6.0 0.84 1.0 1.00 0.90 'ﬁ gl'
g o PF14 14 35.0 13.4 215 1.0 1.10 0.042
PM 10 10 10 10 14 250 205 2.0 8.0 1.05 1.0 1.00 1.70 o o
= =F PF16 16 39.0 15.2 325 1.0 1.10 0.061
PM 12 12 12 12 177 300 245 30 90 115 15 125 2.95 S o
F PF20 20 48.0 19.0 405 1.0 1.30 0.118
PM 14 14 14 14 20 330 275 25 100 125 15 125 4.10
PF25 25 60.0 239 50.5 1.0 1.30 0.230
PM 16 16 16 16 20 385 325 35 120 135 15 150 6.20
PF30 30 65.0 28.6 55.5 1.0 1.60 0.350
PM 18 16 = 18 25 420, 365 35 130 135 2o 450 8.95
PF35 35 84.0 33.4 705 1.0 1.60 0.820
PM 20 24 = 20 28 460 405 40 175 180 20 150 121
PF40 40 104.3 37.5 89.0 20 1.85 1.020
PM 25 24 = 25 34 570 505 55 180 180 20 150 231
PF42 42 104.3 39.5 89.0 2.0 1.85 1.400
PF50 50 17.3 47.0 100.0 20 215 1.720
-% & EExample of application:
PM-S
il
f e
HHSEELEAL ¢ .| 1) e LA
1) ERAQ2ISA : BELIWE . WIS ENALE, | 2) TRAFSBIEI0A, FEO03 FIWILG , FESIL
2) EAFRE04 , FEW03 TR, BEWCLE " 3) WiRAEE061 , MR  HEBRWL.
3) FEMIA6061 , WEAL ; &R, 4)  WE LR
4) A
S Material and surface treatments:
Material and surface treatments: 1) Low carbon steel Q235A; Coated with rust proof o, zing plating or nickel plating.
1) Low carbon steel Q235A; Coated with rust-proof ail, zinc plating or nickel plating. 2) Alternative stainless steel 304, stainless steel 303, stainless steel 316; Surfate passivation.
2) Alternative stainless steel 304, stainless steel 303, stainless steel 316; Surface passivation. 3) Alternative aluminum 6061; Surface cleaning, or anodizing finish,
3) Alternative aluminum 6061; Surface cleaning, or anodizing finish. 4) Alternative médium carbon steel 45; Coated with rustsproof inc glating or nickel plating.

4) Alternative medium carbon steel 45; Coated with rust-proof ofl zine plating or nickel plating

AL
-14-



#BRPC-REY /AOHPC-CET DONGZHOUC
Washers PC-R Series / Clips PC-C Series

(3 ERPM-KEF! DONGZHOU
PM-K Retainers for Bolts

a
—
T
=t
S
ae Rt mm #BKG He R mm Bs ) Max.axial ll__KhG
Part No. Dimensions Weight Part No Dimensions PartNo. Nom. Size Refainer thrustca.N Weight Bolts
Z’r T d, =b =h, a s d, d n z
d D B d a c f L & n "
- e -
0 o PM-K3 3 43 50 30 20 04 1050 0.0049 3 23 064 15 050
PC-R4 43 75 08 0.15 PC-CAI5 15 1.0 25 15 10 o =
i o PM-K4 4 6.5 7.0 4.3 2.7 0.4 1500 0.0109 4 3.2 064 20 0.50
PC-RS 5.3 95 1.0 0.39 PC-CH 3.6 16 4.0 25 10 § @
4 [a] PM-KS 5 75 87 52 28 O ; . ; : :
PC-RE 84 M0 18 0.70 PC-CE 58 20 6.4 32 16 o = 5 o o B G
=i v ]
PC-RE 8.4 150 1.6 152 PC-C10 74 32 8.0 40 20 E g PM-K6 6 10.4 1ns 6.8 35 0.5 4850 0.0332 6 50 074 30 075
o B
PC-R10 105 180 16 241 PC-C1216 74 40 8.0 40 32 2 S IREEES g e A NG eetn NS it Ok e o
PC-R12 13.0 20.0 2.0 2.85 PC-C20125 9.2 40 10.0 4.0 32 ; a PM-K10 10 15.6 16.3 9.5 5.9 0.6 9500 0.0899 10 8.0 1.08 4.5 1.00
R Y i @ PM-K12 12 167 160 105 61 06 10700 04102 12 80 145 50 125
PC-R16 17.0 27.0 20 542 PM-K14 14 19.0 200 15 8.5 0.7 12700 0.1578 14 10.0 125 55 1.80
e o PM-K16 16 227 235 138 78 08 14000 02282 16 120 135 60 150
PC-RZ5 25.0 39.0 40 14.50 PM-K20-25 24 345 340 200 9.0 10 0.6171 20-25 16-18 1.80 8.0 150
-# B EExample of application:
HASENSEE B R,
1) ESWQ235A | HE LKA ARLEMWLE, EEEWE : LMW WEEERNGE,

2) EEATERI0  RER S
Material: Spring steel.

Material and surface treatments: Surface treatmant: Coated with rust-proof oil, zinc plating or ickel plating

1) Low carbonsteel §235A; Coated with rust-proof oil, zinc plating or nicke! plating

2) Alternatige stainless steel 304; Surface passivation

A=
PM-S Retainers for Bolts Circlips for Shafts PM-E Series DIN471
- |
s Max axial % BKC BE Rt mm ERKG
PartNo. Nom. Size Retainer thrustca.N  Weight Bolts Part No. Dimensions Weight
7 7
] e = s d d, d, a b
B ® B b . S = 2" T IE @ & :
[a] o
PM-54 4 7 85 40 23 03 1000 0.019 4 32 064 20 050 z o PM-ES 6 0.7 56 114 115 270 13 0.084
PM-S5 5 9 107 5.0 33 04 1300 0.034 § 4.0 074 25 0.50 K a PM-E8 8 0.8 7.4 14.7 1.20 3.20 1.5 0. 158
n <
PM-S6 6 11 141 60 38 04 1500 0.063 8 50 074 30 075 () [a) PM-E10 0 1.0 9:3 130 1.50 3.30 18 0.340
= o
PM.S8 8 14 175 B0 40 05 3600 0.109 8 60 084 a5 100 2 o PN = el L i 4 g 30 1.8 0500
-
PM-S10 10 18 221 100 50 05 6400 0211 10 80 105 45 100 2 2 BN itk i 28 PR L oy 24 Uit
oz =2 PM-E16 16 1.0 14.7 1. ;
PM-512 12 22 260 120 50 05 9600 0.280 12 90 1150 50 /1325 3 3 . 239 i 70 2.2 Hirte
PM-E20 20 1.2 18.5 284 2.00 4,00 1.300
PM-S14 14 25 300 135 6.0 08 11320 0.474 14 100 125 65 150 28
PM-E25 25 1.2 232 34.2 2.00 440 3.0 1.800
PM-516 16 2 440 160 60 06 13500 0.563 16 120 135 6.0 _A4%0 :
PM-E30 30 1i5 270 405 2,00 5.00 38 3,320
PM-E35 35 1.5 322 468 250 5.60 £ 4,000
PM-E40 40 1.8 365 526 2.50 6.00 B 5.030
PM-Ed2 42 18 385 55.7 2.50 6.50 e 61500
PM-ES0 50 2.0 45.8 845 2.50 6.90 5.1 10. 200
-4 i ®Example of application:
HHSERER -
1) BWE EEEMGE,
e, 2) TARFRRI04, SERILE
SELESL - LU WEREERE,
Mate and surface treatments:
Material: Spring steel, 1) Spring steel; Black coating
Surface treatment: Coated with rust-praof ail, zinc plating or nickel plating. 2) Alternative stainless steel 304; Surface passivation

18- -19-



FOEBEPM-F E5IDING6799 Z UREXFK , FTEEZE DONGZH@UT ONIPAN)
Retaining Washers PM-F Series DIN6799 = Clevises Assembly =

1.Part No:: FK model - ASSY/01
For example: FK6x12-ASSY/01

#e Rt mm EHKG I i
Part No. Dimensions Weight = o
7 7
e _— 2 _ 2 Horiocopieces i# i
o g 2.Part No.: FK model / FT mode - ASSY/02
PM-Fd 4 072 0.68 3.388 3.292 2.3 0.158 o
=5 = For example: FK6x12-ASSY/02, FT6x12-ASS5Y/02
e b 902 08 A5 852 i P 8 2  Material: Low carbon steel / stainless steel are optional
PM-F6 & 072 0.68 5.308 5.212 12.3 0.255 0 o
PM-F7 7 082 0.88 5.888 5.792 143 0.474 E E
o o
3
PM-FE 8 1.03 0.97 6.578 6.462 16.3 0.660 2 2
PM-F9 ] 1.13 1.07 7.688 7.572 18.8 1,080 - =
a 7 —
PM-F10 10 1.23 147 8.378 8.262 204 1.250
PM-F12 12 133 1.27 10.52 10.38 234 1,630
PM-F15 15 1.53 147 12.68 12.54 294 3.370
PM-F19 18 1.78 1.72 15.99 15.85 376 6.420
PM-F24 24 2.03 1.97 21.964 21798 4456 8.550
PM-F30 30 2.53 2.47 25.884 25.716 526 13.500
3.Part No.: FKk model / FT mode - ASSY/03
Foréxample: FK6x12-ASSY/03, FT6x12-ASS5Y/03
HASEmLASE
1) WA, R RS,
2) Sl ETEATREE04, BE LD
Material and surface treatments:
1) $pring steel: Black coating
2) Alternative stainless steel 304; Surface passivation.
-20- 21-

DONGZHOUGOMPANY

4.Part No.: FK model / FT model - ASSY/04
For example: FK6x12-ASSY/04, FT6x12-ASSY/04

\
\

5.Part No.: FK model / FT mode - ASSY/05
Forexample: FK6x12-ASSY/05, FT6x12-ASSY/05
Material: Low carbon steel / stainless steel are optional

b
Fid
(@]
o
<
=
[ ]
o
2
=
w
i
3
o
=
>
w

-22-

6.Part No.: FK model / FT mode - ASSY/06
For example: FK6x12-ASSY/06, FT6x12-ASSY/06
Material: Low carbon steel / stainless steel are optional

(2pcs)




FHmKXTIHFRSL.. T/K

Rod Ends SL.T/K

Maintenance-free

Be
Part No.

SISTIK
SI6TIK
SIBTIK
SI10TIK
S110 TIKFG
S112TIK
SI112 TIKFG
SI14TIK
S114 TIKFG
S116 TIK
5116 TIKFG
SI1BTIK
S118 TIKFG
S120 TIK
S120 TIKFG
5122 TIKFG
S125 TIKFG
5128 TIKFG
S130 TIKFG
5135 TIKFG
S140 TIKFG

spus poy masml

SIS0 TIKFG 5

BRECHSE , WENSEE . MFAENL MSIL8T/K,
HREEFRY , WEESEMIFG. SIBT/KFG.

d,

B

M5%0.8
M6&x1.0
M8x1.25
M10X15
M10%1.25
M12x1.75
M12x1.25
M14x20
M14X15
M16%2.0
M16X1.5
Mi18x2.5
Mi18X1.5
M20Xx2.5
M20x1.5
M22%1.5
M24x2.0
M27x2.0
M30%2.0
M36x2.0
M42x20
M48x2.0

FREANG, TEEEH.

HERENLESA

M R4S, BmEeE
- fF e TEEFREI04 , FRE303 , FRRI16

8
9
12
14
14
186
18
19
19
21
21
23
23
25
25
28
31
35
a7
43
49
80

For left-hand thread, please add suffix" L

Far fine-pitch thread, please add suffix

Material and surface treatments:
Body: medium carbon steel 45, 2i

% | WREGCrLS

R mm FATKN
Dimensions Load ratings
G, W h d.Qlg® & d. d, L, O &hayn ﬁ%scm
- [+
6 9 27 18 36 4 8.5 e mn 10 13 570 6.00
6.75 11 30 20 40 8 10 13 1270 12 13 7.20 7.65
] 14 36 24 48 5 125 16 15875 16 14 11.6 12.9
105 17 43 28 57 65 15 19 19.05 20 13 145 180
105 17 43 28 57 65 15 19 19.05 20 13 145 180
12 19 50 32 66 6.5 176 22 22226 22 13 <170 24.0
12 19 50 32 66 6.5 17.5 22 22225 22 13 17.0 240
135 22 57 36 75 8 20 25 2540 2516 240 _81.0
135 22 57 36 75 8 20 25 2540 25 18 24.0 3.0
15 22 64 42 85 8 22 27 28575, 28 15 285 39.0
15 22 84 42 85 8 22 27 28575 28 15 285 39.0
165 27 71 44 93 10 25 31 3175 32 15 425 476
165 27 71 44 93 10 25 31 3175 32 15 425 475
18 30 77 50 102 10 275 34 34925 33 14 425 570
18 30 77 50 102 10 275 34 34825 33 14 425 570
20 32 B4 54 111 12 30 38 38.10 37 15 57.0 68.0
22 36 94 60 124 12 335 42 4285 42 15 B8.0 85.0
24 41 103 66 136 14 37 46 4760 51 15 860 107.0
25 41 110 70 145 15 40 50 50.80 51 17 88.0 114.0
28 50 125 81 165.5 17 46 58 57.10 58 16 N *
33 55 142 91 1875 19 53 65 6660 62 17 . !
45 65 (160 117 2185 23 65 75 8250 67 12 . .
el ; AEARIEHG2 ; HPTFE,
L. ' ARE, FHE ATFHBI0L,

g SILAT/K
FG"

©.9. SIBT/KFG
- General with forging part, also turn part is optional

- Body: stainless steel 304, stainless steel 303 or stainless steel 316 is optiGNAl with surface passivation
Steel ball: alternative bearing steel GCr15 with hard chrome plating or stainless steel 840 Inner rifg: alternative low carbon steel 20 or stainless steel 304

225-

plating; Steel ball: bearing steel GCr15 withaut chromilim plating; Inner ring: brass H62, with PTFE;

E #@KG
Weight

0.016
0.022
0.047
0.077
0.077
0.100
0.100
0.160
0.160
0.220
0.220
0.320
0.320
0.420
0.420
0.540
0.720
0.820
1.100
1600
2.400
5.000

B FriR R T slASA.. T/K
Rod Ends SA..T/K

Maintenance-free

Frimx HHMASL. T/K
Rod Ends SI..T/K

Maintenance-free

—
- i Rt mm

g Part No. Dimensions
% d " B C W h deg® 4, ¢ d L,
on 2
SIST/K 5 M5%0.8 8 6 9 27 18 38 4 85 1 111 10
= S16T/K 6 MBx1.0 9 675 11 30 20 40 45 10 13 1270 12
& SIBTIK B MBx1.26 12 9 14 36 24 48 5 125 16 15876 16
? SI10T/IK 10 M10x1.5 14 105 17 43 28 &7 65 15 19 1805 20
e SI10TIKFG 10 M10X1.25 14 106 17 43 28 67 65 15 19 1905 20

S112T/K 12 M12x1.75 16 12 19 50 32 66 6.5 17.5( 22 22225 22
SI12T/KFG 12 M12x1.25 16 12 19 50 32 66 65 176 22 22225 22
SI14TIK 14 M14%20 19 135 22 57 36 75 8 20 25 2540 25
SI14T/IKFG 14 M14X1.5 19 135 22 67 36 75 8 20 25 2540 25
SI16T/K 16 M16x2.0 21 15 22 64 42 B85 8 22 27 28515 28
SI16 T/IKFG 16 M168x1.5 21 15 22 B4 42 B85 8 22 -27 28575 28
S118TIK 18 M18x2.5 23 165 27 71 44 93 10 25 3 @75 32
SI18T/KFG 18 M18X1.5 23 165 27 71 44 93 10 25 3 3175 32
SI20TK 20 M20x25 25 18 30 77 50 102 10 27.5 34 34.926 33
SI20T/KFG 20 M20x1.5 25 18 30 77 50 102 10 275 34 34925 33
S22 T/KFG 22 M22x1.5 28 20 32 84 54 111 12 30 38 3810 37
SI25T/KFG 25 M24x20 31 22 36 94 B0 124 12 335 42 4285 42
SI28T/KFG 28 M27x20 35 24 41 103 66 136 14 237 46 47.60 51
SI30T/KFG 30 M30x20 37 25 41 110 70 145 15 40 S50 5080 51
SI35T/KFG 35 M36X20 43 28 50 125 81 1855 17 46 58 5710 58
SI40T/KFG 40 M42x20 49 33 55 142 91 1875 19 53 65 6680 62
SIS0TIKFG 50 M48X20 60 45 85 160 117 2185 23 65 75 8250 67
SI30-1T/KFG 30 M27x2.0 37 25 41 110 70 145 15 40 50 50.80 51
EREGEE, WERSEE  MERmnL ASILET/K.

ERWFRIL , WEMSEEIOIC, SIST/KEG,

FRRUARE , FSAS

AHAEELEET -
PR GRiNAS | BEEILIE | IR OMRIRGCHLS | Rl Wﬂﬁﬂﬁ"éz FWPTFE,

DONGZHQUWCOMPANY

ATTKN

Load ratings
Q  Bhdyn. Edstat
r c C,
13 570 600
13 7.20 765
14 116 128
13 145 18.0
13 145 180
13 17.0 240
13 17.0 24.0
16 24.0 31.0
16 24.0 31.0
15 (285 39.0
16 285 38.0
15 425 475
15 425 475
14 425 57.0
14 425 570
15 57.0 €8.0
15 68.0 850
15 86.0 107.0
17 88.0 1140
16 . .
7 -
12 . .
17 880 1140

PR TRETERI0N, FEE03, FREI6 0. A

For left-hand thread, please add suffix 1 , e.g. SIL 8T/K
For fine-pitch thread, please add suffix “FG" . e.g. SIBT/KFG

General with forging part, also turn part is optional,

Material and surface treatments:

Body: medium carbon steel 45, zinc plating, Steel ball; bearing steel GCr15 withodi chromium plating: Inner ring: brass HE2, with PTFE;

Bady: stainless steel 304, stainless steel 303 or stainless steel 316 s optional with surface passivation
Steel bal steel GCr15 with

S5

DONGZHOUCO

VIPANY

3 R mm SifiKN

Part No. Dimensions Load ratings
d d, B (o) L, M08 L h L d. Ry  Q  #&hayn.  #hstat

o - ¢ c
SA5TIK 5 M5x08 8 (8 19 18 33 42 111 03 13 570 6.00
SABTIK 6 M6X1.0 9 678 21/ 20 360,46 1270 03 13 7.20 7.65
SABTIK & Mex125 12 98 25 24 42 54 15875 03 14 116 129
SAT0T/K 10 M10X15 14 105 28 28 48 62 1905 03 13 145 180
SA12TIK 12 M12x175 18 12 32 32 54 70 22226 03 13 170 240
SA14T/IK 14 M14x20 18 135 36 36 18 60 78 2540 03 16 240 310
SABTIK 16 M16X2.0 21 15 37 42 21 66 87 28575 03 15 285 39.0
SAMBTIK 18 M18X2.5 23 165 41 44 22 720 84 3475 03 15 425 475
SABTIKFG 18 M18X1.5 23 165 41 44 22 72 94 3175 03 15 425 475
SA20T/K 20 M20x25 25 18 45 50 25 78/ A03 34925 03 14 425 57.0
SA20T/KFG 20 M20X1.5 25 18 45 50 25 78 103 34925 03 14 425 57.0
SA22TIKFG 22 M22x15 28 20 48 54 27 B4 111 3810 03 15 57.0 680
SA25T/KFG 26 M24X20 31 22 55 60 30 94 124 4285 03 15 68.0 850
SA2BT/KFG 28 M27x20 35 24 62 66 33 103 136 (4780 03 A5 860 1070
SA30T/KFG 30 M30X20 37 25 66 70 35 110 145 50.80 03 17 8B.0 1140

SA35T/KFG 35 M36X20 43 28 85 81 41 140 1805 57.10 0.3 16 . .

SA4OT/KFG 40 M42Zx20 48 33 90 91 46 150 1955 66.60 03 17 . .

SAS50T/KFG 50 M48x20 60 45 105 117 53 185 2435 8250 0.3 12 . .

BEEEG  WELSEN . WENEmL 0SALBT/K.
BRARFER , WELSEHIFG, MSAS T/KFG,
FEMWBY | TSEEf

AHERELEAR
TR PRREIAS | BN W RRECCTLS, Fam wﬂhﬂﬁﬂsz PTFE,
FRaAS : TR TR0 FRER03 . FHEIL6 i ' R, Pl - AR

Forleft-hand thread, pleaseadd suffix* L*, e SAL 8T/K
For fine-pitch thread, please add suffix “FG* , e.g. SABT/KFG
General with forging part, also turn gart is aptional

Waterial and surface treatments:
Body: medium carbon steel 45, zine plating; Steel ball: bearing steel GCr15 withaut chromium plating; Inner ring: capper HE2; with PTFE
Bady: stainless steel 304, stainless steel 303 orstainiess steel 316 is optional with surface passivation

ERBKG
Weight

0.013
0.020
0.038
0.055
0.085
0.14
0.21
0.28
0.28
0.38
0.38
0.48
0.64
0.80

1.64
230
4.80

Steel ball: alternative bearing steel GCr15 with hard chrome plating or stailess steel 440C; Inner ring; alternative low carbon steel 20 or stainless steel 304,

E{KG
Weight

0.016
0.022
0.047
0.077
o.077
0.100
0.100
0.160
0.160
0.220
0.220
0.320
0.320
0.420
0.420
0.540
0.720
0.820
1.100
1.600
2.400
5.000
1.100

plating or stainiess steel 440C; Inner ring: slternative low carbon steel 20 of stainless stesl 304,

spu3 poy twmﬂl

-26-



FrmXTSHAPHS B A #FiRXTIHEPOS

Rod Ends PHS = Rod Ends POS

Maintenance required Maintenance required

o

o

= =

)4

|
4\
"
ds
N
d=e14 =016 . ds
e Rt mm ﬁﬁKN EE|K Bs R mm FATTKN & B/KG
Part No. Dimensions Load ratings Weigh  PartNo. Dimensions Loadratings  Weight
d d. B C, WL d L h L d d, d, d, @ Thoyn Fdstat d d, B C, L, s h L d, Ris d, a  Bhdyn.  Fstat
o #n = ¢ c g o c [ "
PHS 5 5 M5X0.8 8 6 9 10 16 35 27 4 85 11 1141 70 13 2325 570 0016 POSS 5  M5x08 8 & 20 16 33 40 1u 03 770 13 325 570 0013
PHS 6 6 M6X1.0 9 675 11 12 18 39 30 5 100 13 1270 686 13 430 7.20 0022 _POSE 6 MBx1.0 9 675 22 18 36 45 1270 03 B9 13 430 720 0020
PHS 8 8 M8x126 12 9 14 16 22 47 36 5 125 16 15875 104 14 7.200 116 0.047 POSB 8 MBX125 12 9 25 22 42 53 15875 03 104 14 720 116 0.030
PHS 10 10 M10xX15 14 105 17 20 26 56 43 65 150 19 19.05 128 13 100 145 0077 POS 10 10 M10xX1.5 14 105 29 26 48 61 19.06 03 429 13 100 145  0.055
PHS10FG 10 M10%1.25 14 105 17 20 26 56 43 65 150 19 19.05 129 13 100 145 0oy7 POS12 12 Mi2x175 16 12 33 30 54 69 22225 03 154 13 134 170 0.085
PHS 12 12 M12x175 16 12 19 22 30 65 50 6.5 175 22 22226 154 13 134 170 0.0 POS 14 14 M14x2.0 19 135 36 34 60 77 2540 03 169 16 170 240 0.14

PHS12FG 12 M12x125 16 12 19 22 30 65 50 65 17.5 22 22225 154 13 134 {7.0 040  POS16 16 M18X20. 21 15 40 40, 66 86 28576 0301194 6 216 205 021
PHS 1440 14 MI#X2.0 _d@ni35 22 25 34 74 57 8 200 25 2540 169 16 17.0 24040016y POSI8 18 MIBX25 = 23 165 44 44 72 94 3175 03 N@nele 1547260 438 0.28
PHEAIRGL A M P10 Tls 1 22 105 A a0 s 250 A E AT 02l o) |08 1BR0RIGT IMIB X623 T8 s, ad g TTTRTTed eTs. 0. 210 T ST IPe0. 98028
PHS16 NQid1cFo 21 8 24 28 40 84 64 B 220 27 25575 194 15 216 285 Of P PQERU N M20x25 23 18 47 S0 78 103 34926 03 244 Q4 31.54p 525 0.38
PHS16FG 16 M16x16 21 15 24 28 40 84 64 8 220 27 28576 19.4 15 216 285 022 POS20FG 20 M20x15 25 18 47 50 78 103 34925 03 244 44 315 525 038
PHS 18 18 M1Bx2.6 237165 27 32 44 93 71 10 250 31 3175 219 15 260 425 032 (POS22FG 22 M22x15 28 20 51 54 84 111 3810 03 258 15 380 570 048
PHS18FG 18 MiBX1.5 20 165 27 32 44 83 71 10 250 31 3175 214 15 260 425 032 | POS2BFG 25 M2dx20 31 220 57 B0 94 124 4286 03 206 15 475 €80 064
PHS 20 20 M20X25° 25 18 30 33 50 102 77 10 27.5 34 34925 244 14 315 425 042 POS28PG 28 M27X20 35 24 62 686 103 136 47.60 03 323 15 580 755 0.96
PHEZ0FO) 30/ MZOX4E 25 18 900 30 SUlMOT Tr 0 2rd 34 S5 24d 4 6 425 b4y RGEDIRG. 30 MIGMER 87 25 BE 70 110 M6 5080 03 ME 97 640 8aQ 140
PHS22FG 22 M22x15 28 20 32 37 /54 111 84 12 300 38 38.10 258 15 380 57.0 0.54
PHS25FG 25 M24x20 31 22 36 42 60 124 94 12 335 42 4285 296 15 475 680 073
PHS 28FG 28 M27x20 35 24 41 48 66 136 103 14 37.0 46 47.60 323 15 580 750 0.98
PHS30FG 30 M30x20 37 25 41 51 70 145 110 15 40.0 50 50.80 34.8 17 640 880 1.10

=

- SHE BRI A AT
RTINS LR,
-ERENEN  WENSER , SFaENLINPOSLE..
- EREFEY  MERSEEMFG. MPOS BFE,
- FRRART | TTRMER,

- SR N

- R LR,

-ESEREN, NEDSEE , BERENLIPHSLE.
- EREFER . WERSSHAFG. MPHS BFG.

- FERRAARE | TTEREL.

HAREELERY,
HEREELEST
SR W SRR G Wi N SR L I o - L P
- oA ETEARREI04  FEEEI03 , RIAMILG " L . NCLE 3

- Outer race is lined with brass finer
Rod bady with a lubricating hole or grease nipple

- For left-hand thread, please add suffix” 1" , e.g. POSL &

- For fine-pitch thread, please add suffix "FG* , £.9. POS 8FG

- General with forging part, also turn part is optional

- Outer race is lined with brass liner.
- Rod body with a lubricating hole or grease nipple
~Forleft-hand thread, please add suffix* 1" , e.g. PHSLE
-Forfine-pitch thread, please add suffix “FG* , e.g. PHS 8FG
- General with forging part, also turn part is optional,

Mataiial o sirface frautimnit Material and surface treatments
sterial and surface treatments; ! - 4 !
- Body: medium carben steel 45, zinc plating; Steel ball: bearing steel GCr15 withaut chy latifg 1 brass H62.
- Body; medium carbon steel 45, zinc plating; Stes! ball: bearing steel GCr1S without chramium plating; lnrier ring: copper B2 ikt e el il G ol
Y . et e s Py ol ! - Body: stainless steel 304, staintess steel 303 or stainless steel 316 is optional with surface passivation
IR a5 StRel A0A SHAINIRES SIAR: D HUEAMN) Ssasiag) 410 16 0 pHORMIMI SUFTMCA pREIATIOL Steel ball: aiternative bearing steel GCr15 with hard chrome plating or stainless steel 440C; Inher ring: alternative fow carbon steel 20 or stainless steel 304
Steel ball) alternative bearing steel GCr1S with hard chrome plating o stainless steel 440C; Inner ring: alternative low carbon steel 20 of stainless steel 304

7. -28-

HFrimXTHIRSA..PK

Rod Ends SA..PK mms

Maintenance-free

A #FiR 615 50iRS1L. PK
Rod Ends SL.PK =

Maintenance-free

#e Rt mm ARKN B RKG qe R mm TATTKN & @BKG

PartNo. Dimensions Loadratings Weight Part No. Dimensions Load ratings Weight
d d; B C d h L L d W d L A Zhdyn Fstar d d, B c, d. h, L. L, a Fhayn.  Fhstat
& min - c c. K & min = c e Xy

SISPK 5 M5x0.8 8 6 18 27 3865 10 11 9 9 4 12 570 600 0.018 SASPK 5 M5x0.8 8 [:3 19 33 42,5 20 12 570 8.00 0.014
S16 PK 6 M6x1.0 9 67 21 30 405 12 13 1 10 5 11 720 765 0.026 SABPK 6 M6 1.0 9 6.7 21 36 46.5 22 11 7.20 7.65 0.020
SI18PK 8 M8x125 12 9 25 36 485 16 16 14 125 5 12 116 129 0047 SABPK 8 M&x1.25 12 @ 25 42 54.6 25 12 1.6 12.9 0.038
S110PK 10 M10X1.5 14 11 28 43 675 20 19 17 15 65 12 145 180 0.077 SA10PK 10 M10X1.5 14 11 29 48 62,5 29 12 145 18.0 0.055
SI10PKFG 10 M10x1.25 14 11 29 43 575 20 18 17 15 65 12 145 180 0.077 SA12PK 12 Mi2x175 18 12 33 54 70.6 a3 13 170 240 0.085
S112PK 12 M12x1.75 16 12 33 50 665 22 22 19 175 65 13 17.0 240 . 0.100 SA14PK 14 M14x2.0 19 14 a7 60 78.5 36 14 24.0 31.0 0.140
SI12PKFG 12 M12x1.26 16 12 33 50 665 22 22 19 176 66 13 170 240 0.100 SA16PK 16 MiBX20 21 15 43 66 7.5 40 i4 285 390 0.210
SI114PK 14 M14x20 19 14 37 57 755 25 25 22 20 8 14 240 31.0  0.160 SA 18 PK 18 M18X25 23 17 47 72 95.5 a4 14 425 475 0.280
SI14PKFG 14 M14X15 19 14 37 57 7565 25 25 22 20 8 14 240 310 0.160 SA18PKFG 18  M18x15 23 17 a7 72 966 a4 14 425 47.6 0.280
5116 PK 16 M16x2.0 21 15 43 64 855 28 27 22 22 8 14 285 38.0 0.220 SA20PK 20  M20X25 25 18 51 78 1035 47 14 425 567.0 0.380
SI16PKFG 16 M16x15 21 15 43 64 855 28 27 22 22 8 14 285 39.0 0220 SA20PKFG 20 M20x15 25 18 51 78 1035 47 i4 74250 570 0.380
SI18PK 18 M18x25 23 17 47 71 945 32 31 27 25 10 14 425 47.5 0320 SA22PKFG 22 M22%15 28 20 55 84 11.5 50 15 57.0 68.0 0.480
SI18PKFG 18 M18x15 23 17 47 71 945 232 31 27 25 10 14 425 475 0.320 SR25PKFG. 25  MB4RA0 5 2 B a4 1245 67 & 680 850 0.640
$120 PK 204 M20x25 25 18 51 77 1025 33 34 30 275 10 14 425 57.0 0420

SI20PKFG 20 M20%1.5 25 18 51 77 1025 33 34 30 275 10 14 425 57.0 0420
SI22PKFG = 22 M22x1.5 28 20 55 84 1115 37 38 32 30 12 15 57.0 68.0 0.540
SI25PKFG 25 M24%20 31 22 61 94 1245 42 42 36 335 12 15 680 850 0720

- FRER R,
" - FrisREm Y,
SHERETEPTFERMMIF. - SHEERTTEP TFER RESTH,

: b s p— .
bt o e s -EREBER , USUEEH | SFNEHLISAL 3K,

¥ F PKF
_ﬁi:i;ﬁ : !ﬁiéiﬁ“ SR EREFRR WEVSEMIFG, 1SA3FKRG,
) o - FRHUBR, TERES

HEREELEAT
- FRAS | PBAS | MIEIRALE ; R - WARGCHS | R | MPTFES HROSELEAL
FK - ETRAFESI04 | FEMI03  FRAINE I ¢ BT A T, - FRGAOK | BERIRMS | BEMITALE S IR . WMRBGCIS , KR ; WPTFE,
- FSRiS - STRAFREN04 , FHEI03 , FREBI6 i W X =2

- Rad bady is pressed araund inner ring
- Quter race s lined with PTFE composite material

- For left-hand thread, please add suffix” L, e.g. SIL8PK

- For fine-pitch thread, please add suffix "FG" ,e.g. ST 8 PKFG
- General with forging part, alsa turn part is optional

Rod body pressed around inner ring,
- Outerrace lined with PTFE composite material
- Forleft-hand thread, please add suffix” L* | e.g. SAL BPK

For fine-pitch thread, please add suffix "FG" , e.g. SA B BKFG.
- General with forging part, also turn part is eptional
Material and surface treatments:
- Body: medium carbon steel 45, zinc plating; Steel ball: bearing steel GCr15 without chromium platifig; with PTFE: Material and surface treatments:
- Body: stainless steel 304, stainless steel 303 or stainless steel 316 is optional with surface passivition. - Body, medium carbon steel 45, zinc plating; Steel ball: bearing steel GErl5 without chromium plating; with PTFE,

Steel ball alternative bearing steel GCr15 with hard chrome plating or stainless steel 440C - Body: stainless steel 304, st 1303 or staintess stee| 316 is aptional with surface passivation
Steel ball: alternative bearing steel GCr15 with hard chiome plating of stainless steel 440C

-29-
-30-



HimXT5 4RSI .E(S), SL..ES 2RS DONGZ FIRXTIHASA..E(S), SA..ES 2RS
Rod Ends SI..E(S), SI.ES 2RS ¢ Rod Ends SA..E(S), SA..ES 2RS

Maintenance required Maintenance required

\

-
Ul
ds
8BS R mm AN E#KG Ba st mm BN - ERKG
Part No. Dimensions Load ratings  Weight Part No. Dimensions Load ratings ~ Weight
d d, B C L W d h L L d d d a zhiyn  Fbsta d d, B 6 L d, L, h [ d' Ry a &hdyn. Esta
o mn - c C, L L min min = c = L
4 SIBE" 8 MBX1.0 B 44 11 1 21 30 405 5 10 13 10 13 3.40 8.15 0.021 SABE" 8 MBX1.0 L] 44 18 21 11 38 48.5 10 03 13 340 815 0.017
o SIBE" 8 MBX125 B8 60 15 14 24 36 48 5 125 16 13- 15 550  12.9.-0.039 SABE" 8 M8x125 8 6 22 24 14 42 54 13 <03 15 55 129 0.029
& SIM0E* 10 M10x15 9 70 20 17 29 43 575 65 15 19 16 12 815 176 0.061 SA10E* 10 M10X15 a9 T 28 29 15 48 625 16 03 12 8.15 17.6 0.051
= SI12E* 12 M12X1.75 10 80 23 19 34 50 67 B5 175 22 18 11 108 [ 245 0.09 SA12E* 12 M12x175 10 8 28 34 17 54 71 18 03 11 10.8 245 0.086
E,- SI1SES 15 M14x20 12 10 30 22 40 61 81 8 21 26 22 8 17.0 36.0 D0.180 SA15ES 15 M14x2.0 12 10 34 40 20 63 83 22 03 8 17.0 360 0.140
SIM7ES 17/ M16X20 14 11 34 27 46 67 90 10 24 30 25 10 212 450 0220 SA17ES 17 M16x2.0 14 11 36 46 23 69 92" 26 03 10 212 450 0.190
SI20ES 20 M20x15 168 13 40 32 53 77 1035 10 275 35 29 9 300 60.0  0.350 SA20ES 20 M20X15 16 13 43 53 27 78 1045 29 0.8 9 300 600 0310
SI25ES. 25 M24x20 20 17 48 36 64 94 126 12 335 42 355 7 4BO0 B30 0.640 SA25ES 25 M24Xx20 20 17 53 64 32 94 126 355 06 7. 480 830 0.560
SI30ES 30 M3a0x20 22 19 56 41 73 110 1465 15 40 50 407 6 620 110 0.930 SA30ES 30 M30x20 22 19 85 73 37 110 1465 40.7 06 6 620 110 0890
SI35ES 35 M36x30 25 21 60 S50 82 125 166 15 47 58 47 6 BO.0 146 1.30 SA3SES .35 M36x30 25 21 82 B2 41 140 181 47 08 /6 B80.0. 146 140
SI40ES 40 M39%X30 28 23 65 55 92 142 188 18 52 65 53 i 100 180 2.00 SA40ES 40 M39Xx3.0 28 23 86 82 46 150 196 53 0.8 7 100 180 1.80
SI4S5ES 45 M42x3.0 32 27 65 60 102 145 196 20 58 70 60 ¥ 127 240 2.50 SA45ES 45 M42x3.0 32 27 94 102 51 163 214 60 0.6 7 127 240 2.60
SIS0ES 50 M45x%3.0 35 30 68 65 112 160 216 20 62 75 66 6 156 200 350 SAS0ES 50 M45x30 35 30 107 112 56 185 241 66 0.6 6 156 290 3.40
SIGDES 60 M52x3.0 44 38 70 75 135 175 2425 20 70 88 80 6 245 450 5.50 SABO0ES 60 MG2x3.0 44 38 115 135 68 210 2775 80 1.0 6 245 450 5.80
SITOES 70 MS56x40 49 42 B0 85 160 200 280 20 80 98 92 6 315 610 860 SATDES 70 MS56X40 49 42 125 160 80 235 315 92 1.0 [} 315 610 8.20
SIBOES 80 MB4x4.0 55 47 85 100 480 230 320 25 85 110 105 6 400 750 12.0 SAB0ES 80 MB4X4.0 55 47 140 180 90 270 380 105 10 L} 400 750 12.0
- ERFF R SR A0 X IS BRGE. E(SIIHGE £S 2RSEAL. - iR R 0% T WRGE. (SR GE(ES 2RsmAL.
S1ESEI & (il Il & IF. SLESEH IR M AL & it
- ShRILEd=15 , T 2RO , ik « ST 20 ES 2RS, WRILEI215 , HHJE- 2RO Bl : SA20 €5 285,
# ° MESSTRAREEIBE, #  PUESHTEHLEE.
-ERERES  WENSHER , MEsmim.g nsIL 208s. - ERERES  NENSERE  BFAmLusAL 205,
- FERMABIR. -FRRUSRE.
AR PREMS | REAHE | AEIHIR | SRECCr1S, FEoE R4S RTTRIVALE ; MBI | WRIEGCAS,
Itis made up of a radial spherical plain bearing GE .E{S) or GE_ES 2RS and rod body. - Itis made up of aradial spherical plain bearing GE. E{S) or GE .ES 2RS and rod body
- Rod body of SL.ES with a lubricating hole or a grease nipple. - Rod body of SL.ES with 2 lubricating hole or a grease nipple.
- For bearings d215, SL.ES 2RS atso available, e.g. §120 £S 2RS - For bearings 4215, S1.ES 285 alsa available, e.g. SA 20 £5 2R5.
Lubricating hole or grease nipple isn't available for the sizes marked *** Lubricating hole or grease nipple isn't available for the sizes marked ***
For left-hand thread, please add suffia’ L* , e.g. SIL 205, - For left-hand thread, please add suffix” L . e.g, SAL 20€S.
All with forging part. - All with forging part,
~dodihmedium carbon steel 45, zine plating; Inner ring and stee! ball: both bearing steel GErlS Body: medium carbon staal 45, zine plating; Inner ring and steel ball: both baaring steel GCr15,
431- -32-

g s BiAEGIR..UK , GIR..UK 2RS %] < PiRGAR. . UK, GAR..UK 2RS

Rod Ends GIR..UK, GIR..UK 2RS ¢ Rod Ends GAR..UK, GAR..UK 2RS ¢
Maintenance-free Maintenance-free
B
T
o
AN
o i L
Aot h
Wi i L
Al L
La | . —— '
W
s AR5t mm KN E BKG #He Rst mm TN = BKG
Part Na. Dimensions Load ratings  Weight Part No. Dimensions Loadratings  Weight
d 4 B C d L W d @ L ho L d Q Fhn St d  d, B Cld/ L h L L d Rs Q 3dyn Hhstat
i n - c c *a & min ~ [+ C. Ky
3 GIR 6 UK 6 M6x1.0 6 44 21 11 11 10 13 5 30 405 10 13 360 815 0.021 GAR 6 UK & Mex1.0 6 44 21 465 (36 12 18 10 023 13 360 815 0.017
g GIR 8 UK 8 MBX125 8 6 24 15 14 125 16 5 36 48 13 15 585 129 0039 GAR B UK 8 MBx125 8 6 /24 54| 42 14 22 13 03 15 685 128 0029
f:'n GIR 10 UK 10 M10x15 9 7 29 20 17 15 19 65 43 575 16 12 865 176 0.061 GAR 10 UK 10 M10x1.5 9 7 28 ~625 48 15 28 16 083 12 865 176 0.051
£ GIR 12 UK 12 M12x176 10 8 34 23 18 175 22 65 50 67 18 13 114 245 0.096 GAR 12UK 12 M12x175 10 8 34| 71 54 18 28 18 03 11 114 245 0088
GIR 15 UK 15 M14x2.0 12 10 40 30 22 21 26 8 81 81 22 8 176 360 O0.18 GAR 15UK 15 M14x2.0 12 10 40 83 63 20 34 22 03 '8 176 2360 0.14
GIR17TUK (2RS) 17 Mi6x20 14 11 46 34 27 24 30 10 &7 90 25 10 2244450 022 GAR17TUK(2RS) 17 M16x2.0 14 11 48 92 69 23 _36 25 03 10 224 450 0.18
GIR20 UK (2RS) 20 M20x15 186 13 53 40 32 275 35 10 77 1035 29 9 3156 8600 035 GAR 20 UK(2RS) 20 M20x1.5 16 13 53 1045 78 27 43 29 06 9 315 600 0.31
GIR2Z5UK (2RS) 25 M24x20 20 17 64 48 236 33.5 42 12 94 126 355 7. 610 830 064 GAR25UK(2RS) 25 M24x20 20 17 64 126 94 320 53 356 06 7 51.0 830 056
GIR30 UK (2RS) 30 M30x20 22 19 73 56 41 40 50 15 110 1465 407 & 665 110 093 GAR 30 UK(2RS) 30 M30x2.0 22 18 73 1465 110 37 65 407 0.6 6 665 110 0.89
GIR 35 UK 2RS 35 M36x3.0 25 21 82 60 50 47 58 15 126 166 47 6 112 146 1.30 GAR 35 UK 2RS 35 M36X3.0 25 21 82 181 140 42 82 47 0.6 (6 12 148 1.40
GIR 40 UK 2RS 40 M38x30 2B 23 92 65 55 52 65 18 142 188 53 7 140 180 2.00 GAR 40 UK 2RS 40 M39x3.0 28 23 92 196 150 48 B6 53 0.8 7 140 180 1.80
GIR 45 UK 2RS 45 M42x3.0 32 27 102 65 €0 58 7O 20 145 196 60 7 1800 240" 2.50 GAR 45 UK 2RS 45 M42x3.0 32 27 102 214 163 52 94 80 0.6 7 180 240 280
GIR 50 UK 2RS 50 M4s5x30 35 30 112 68 65 62 75 20 160 218 66 220 290 350 GAR 50 UK 2RS 50 M45x3.0 35 30 12 241 185 60 107 €6 06 6 220 290 3.40
GIR 60 UK 2RS B0 M52x3.0 44 38 135 70 75 70 88 20 175 2425 80 6 345 450 © 5.50 GAR 60 UK 2RS 60 M52x3.0 44 38 135 2775 210 75 115 80 10 8 345 450 5.90
GIR 70 UK 2RS 70 M56x40 49 42 160 80 B85 80 98 20 200 280 82 6 440 610 BE6O GAR 70 UK ZRS 70 MS56X4.0 49 42 160 815 235 87 1258 82 1.0 6 440 610 8.20
GIR 80 UK 2RS B0 M64x4.0 55 47 180 85 100 95 110 25 230 320 105 6 570 750 12.0 GAR 80 UK 2RS 80 ME4x4.0 55 47 180 360 270 100 140 105 1.0 6 570 750 120
i UKEEHGE. UK 2RSEAL - I EH B AR EOR SR AGEWKEREGE. UK 2RSEE.
- KA2d217 | ATHIE-2RSEN | 1A © GIR 20 UK 2RS. R Rd217 (PIMIE SRS, $40 . GAR 20 UK2RS.
- EREGSN, NEYSEE . WERENLAGIRL 200K SREmSY  WENSES , RFMENLIOGARC20UK
TR AR, - FERMIA NI,
FTRER © cREREMS | EEEALTE ; RS  WRAGCLS, - FRIRAK | PERPMS | BRI ; SRR | ERINGCI1S,
Itis made up of a maintenance-free radial spherical plain bearing GE /K or GE. UK 2RS and rod body. Itis made up of a maintenance-free radial spherical plain bearning GE..UK or GE..UK 2RS and rod bady.
Forbearings d217, GIR. UK 2RS also available, e.g. GIR 20 UK 2RS - For bearings 0217, GIR..UK ZRS also available, &.9. GAR 20 UK 2RS
- For left-hand thread, please add suffix” L , e g GIRL 20UK. - For left-hand thread, please add suffix” L* , e g. GARL 200K
Al with forging part. - All with forging part.
Body: medium carbon steel 45, zinc plating: Inner ring and steel ball: both bearing steel GCr15 - Body: medium carbon steel 45, zinc plating; Inner ring and steel ball: nth bearing steel GCr15.

-33- -34-



F- A4

k=1
a
@

-37-

i &+ 4hiR CF, CF..S, CF..C
Rod Ends CF, CF..S, CF..C W

Maintenance required, inch dimensions

Be Rtinch TN
Part No. Dimensions Load ratings
d 8 e, h, d, d. W d, i d, a
ik oy =
CF3*  0.1900 0.312 0.234 1.062 0.625 0406 0.312 0437 0.500 10-32 10  9.247
CFa* 0.2500 0.375 0.250 1.312 0750 0469 0375 0.500 0.687 1/4-28 135 14.269
CF5* 0.3126 0437 0312 1.375 0.875 0500 0437 08625 0687 5/16-24 11 17.009
CF6 0.3760 0.500 0.358 1.625 1.000 08687 0562 0718 0.812 3/8-24 11 22627
CF7 04376 0.562 0.406 1.812 1.1256 0.750 0.625 0.812 0937 7/16-20 105 28.400
CF8 * 05000 0625 0453 2125 1312 0875 0750 0937 1,062 1/2-20 10  40.459
CF10 0.6250 0,750 0.484 2500 1.500 1.000 0.875 1.125 1.375 §5/8-18 13 43.203
CF12 0.7500 0.875 0.593 2875 1750 1125 1.000 1312 1562 3/4-16 12 63.193
R ERL
W " OESHSTRMITAEE . RARREN , WHCF. O,
ERREFT , FRESSHS , 0
- R OB EQEAFEAEAMR,
- BRERSS , MENSER . AFAHILNCE S
RIS,
WHORELEAT
R | PRRIRAS , W | I BT, W,
- FFlE © ETEFOFRIEA04 , FIRRI03 , FBEILG , BERABE | Wf - TEAOCKER,

- Rod bady is pressed around inner ring
- Lubricating hole of grease nipple isn't available for the sizes marked "+
- i assembling with rod, please add suffix *S* , e.g. CF&S
Load ratings only apply to rod ends without grease nipple.
Forlefi-hand thread, please add suffix ™ L, &.9. CFL8
- All with turn part.

When grease nipple is fequired for other sizes, please use the sign CF..C

Material and surface treatments:
Body: medium carban steel 45, zinc plating; steel ball: bearing steel with hard chrome plating
Body; stainless steel 303, stainless steel 303 or stainless steel 316 is optional with surface passivation. Steel ball: alternativ@siainless steel d40C

HrigsE TR CF..T, CF..TS

Rod Ends CE.T, CF.TS

Maintenance-free, inch dimensions

B R inch
Part No. Dimensions
d B c, h, d. d. w d, L d, a
i P
CF5T 0.3125 0437 0312 1.375 0875 0500 0437 0625 0887 5/16-24 11 28.693
CF6T 0.3750 0.500 0.35¢ 1.625 1.000 0687 0562 0719 0812 3/8-24 11 38.371
CFTT 0.4375 0.562 0.406 1.812 1.125 0750 0.625 0.812 0.837 7/16-20 10.5 41.676
CFaT 0.5000 0.625 0453 2,125 1.312 0875 0750 0937 1.062 1/2-20 10 67.299
CF10T 06250 0750 0484 2500 1.500 1,000 0875 1.1256 1375 5/8-18 13 75.271
CF12T 07500 0.875 06593 2875 1750 1.125 1.000 1312 1562 3/4-16 12  113.642
- KRR
- SHEPIFERRPTFEH .

-EREEH T FRYSEMS , WCFATS
-ERERSS  WENSEE , MFRMMOLAOCFLET
- FREAE,

HEOEELEA
- AP GE © RRRAS | WS | O W | AR | PTFE.
- Gk - ETRAF S04, FEM303 , FEE316 , BEMGLE W EE00RENR.

-Rod bady is pressed around inner ring
- Quter race is lined with PTFE composite material.

~If assembling with rod, please add suffis ~ §° , &.0. CFATS,
~For left-hand thread, please sdd suffix” L, e.g.CFLAT.

- All with turn part

Mat
- Body: medium carbon steel 45, zinc ball: b fiard ; with PTEEEOmp: I
- Body: stainless steel 304, stainless steel 303 or stainless steel 316 is optional wunswfaupasswmun Steed ball: alternative stainless steel 440C

and surface treatments:

EHEKG
Weight

0.018
0.023
0.036
0059
0.082
0.132

0.195

0.295

SRKN  EEKG
Load ratings Weight

0.036
0.059
0.082
0.132
0.195

0295

4 iR iHFE CM, CM..S, CM..C

Rod Ends CM, CM..S, CM..C s

Maintenance required, inch dimensions

as R} inch FATTKN
Part No. Dimensions Load ratings
d B G, h, d. d, L, d, a
g o
cm3* 0.1900 0.312 0.234 1.250 0.625 0.437 0.750 10-32 10 5.355
cmar 02500 0375 0250 1562  0.750 0.500 1.000 1/4-280043.5 9.839
CM5* 0.3125 0.437 0.312 1.875 0.875 0.625 1.250 5/16-24 11 15.910
CMe 0.3750 0.500 0.359 1.938 1.000 0.719 1.250 3/8-24 11 22.542
cM7 0.4375 0.562 0.406 2125 1126 0.812 1.375 7/16-20 105 28.223
CcMm8 0.5000 0.625 0.453 2438 1.312 0.937 1.500 1/2-20 10 37.087
cmi0 0.6250 0.75 0.484 2.625 1.500 1.125 1.625 5/8-18 13 43.203
cmM12 0.7500 0.875 0.593 2.875 1.750 1.312 1.750 3/4-16 12 63.193
- PR

-# T NESWFARBREER  KREREDT , RACM. e,
-ERMBEHT | RYSSHS , WCMBS.

- BPNRERERFEEEONR,

-ERENSR NEDSEE  BFREILMcMLs

- FERMAER,

HEnNEL A
- FFUEGE © RERSS | BEME R R, B
- PR EEATFREE04  FAW303  FREL6, smnmw B T RA40CTIAN,

- Rod body is pressed around inner ring
- Lubricating hole or grease nipple isn't available for the sizes marked
~If assembling with rod, please add suffix °S" , e.g. MBS
Load ratings only apply to rod ends without anssen mpp\e
~For left-hand thread, please add suffiz " L* , e..C
- All with turn part.

Material and surface treatments:
- Body: medium carbon steel 45, zinc plating; steel ball: bearing steel with hard chrome plating.
- Body: stainless steel 304, stainless steel 303 or stainless steel 316 is optional with surface passidation, Steel ball: alternative stainless steel 440C

IR T A CM..T, CM..TS
Rod Ends CM..T, CM..TS s

Maintenance-free, inch dimensions

When grease nipple is required for other sizes. please use the sign CM..C.

ae Rstinch SARTKN
Part No. Dimensions
d B G hy d, d, L, d. a
mn n
CMST 0.3125 0.437 0312 1.875 0875 0.625 1250 5/16-24 " 28.693
CMET 03750 0500  0.359  1.938  1.000 | 0.719 1250 3/8-24 1 38.371
CMTT 0.4375 0.562 0.406 2,125 1.125 0.812 1375  7/16-20 10.5 41.676
cMaT 0.5000 0.625 0.453 2438 1312 0.937 1.500 1/2-20 10 67.209
cM10T 0.6250 0.75 0.484 2,625 1.500 1.125 1625 5/8-18 13 76.271
cM12T 0.7500 0.875 0.593 2.875 1.750 1.312 1750 3/4-16 12 113.642
SRR EER
- SR AR WSRART FESI T
- ERERAT  FRUISENS MOMETS
-ERENSS  WENSED| HFHE0.NCML BT
- FEERRLAE (.
HERNHELESL -
- FEG C PRSHS | BT I ARG, WO BPTFE,
- RO : FTBAPR IR0 FIRER03 , FHMEI16 MERLE | WH : TRMI0CTER,
- Rod body is presséd around inner ring.
Outer race is lined with PTFE composite Material.
-1f assembling with rod, please add suffix* 5% e.g. CM8TS
- Forleft-hand thread, please add suffix® L* [ e.g. CMLB T
= All with turn part.
Material and surface treatments:
- Body: medium carbon steel 45, zinc plating; steel ball: beating steel with hrame plating; with PTFE fal,
Body: stainless steel 304, stainless steel 303 ar stainless stesl 316 is opti ith surf Stael ball: altarnati less steal 440C

EHKG
Weight

0.014
0.018
0.032
0.050
0.068
0.109
0.163

0.259

ERKG
Load ratings Weight

0.032
0.050
0.068
0.108
0.163
0.259

-36-

-38-



spu3 poy xmml

EEFIRK T HRPNF

Injection Molded Rod Ends PNF !

Inch dimensions

<

~ Left Hand Thread

Identification

Groove.
BE Rt inch
Part No. Dimensions
N A B c D = F: T w
Throad was +0.0006 w006z show a0 w0802 w005 00000
e “Botie D53t 3916 s
PNF3 10-32 1.062 0.1500 0.562 0.625 0.4086 0312 0250 0312
PNFa 1/4-28 1.312 0.2500 0.750 0.750 0.469 0375 0281 0375
PNFS5 5/16-24 1.375 0.3125 0.750 0.876 0500 0437 0.344 0437
PNF6  3/8-24 1625 03750 0937 1.000 0687 0562 0408 0.500
PNFT 7/18-20 1.812 0.4375 1.062 1.125 0.750 0625 0437 0562
PNF8 1/2-20 2.125 0.5000 1.187 1.312 0.875 0.750 0500 0.625
PNF10  5/8-18 2,500 0.6250 1.500 1.500 1.000 0875 0562 0.750
PNF12  3/4-18 2875 0.7600 1.750 1.750 1125 1.000 08687 0875
MRRREASL :

- W BERS, BERERLE. TEATERNE  BERK,
- 1R WARIRGCrLS, M, SLESA0CTRA,

- Al MERE.

- EREEEN  NELSEE  MFAENLIOPNFLS.

Material and surface treatments:
Body: medium carbon steel 45. Zine plating. Alternative stainless steel with surface passivation
Steel ball: bearing steel GCr15. Hard chrome plating, Alternative stainless steel 440C.

- Race: nylon
Forleft-hand thread, please add suffix® L” , e.g. PNFLE.

-39-

-41-

BRI IR X T HAPXF

High Loaded Injection Rod Ends PXF !

Inch dimensions

<
Be R inch
PartNo. Dimensions
5 50 o 5 o
a0t 400 s0.005 018 s0.01 e 0w
3 0nss
PXF3 0.1800 ©0.312 0.250 1.082 0.625 0.406 0 312
PXF4 0.2500 0.375 0.281 1.312 0.750 0.489 0.375
PXFS5 0.3125 0.437 0.344 1.375 0.875 0.500 0.437
PXF6 0.3750 0.500 0.406 1.625 1.000 O0.687 0.562
PXFT 0.4375 0.562 0.437 1.B12 1.125 0.750 0.625
PXF8 0.5000 0.625 0. 500 2 125 1.312 0.875 0.750
PXF10 0.8250 0.750 0.562 2.500 1.500 1.000 O.875
PXF12 0.7500 0.875 0.687 2.875 1.750 1.125 1.000
PXF16 1.0000 1.375 1.000 4.125 2.750 1.625 1.500
PXF16-1 1.00000 1.375 1.000 4.125 2.750 1.625 1.500
PXF16-2 1.0000 1.375 1.000 4.125 2.750 1.625 1.500
HENEELEA

-EEfE  ARIWISCMo,
- §UER  BAWGCrLS | WIS, AEIE4A0CF R
-AM SRR,

-EREESY . WERSSHE . WFMEDLLPXFLE
Material and surface treatments:
- Body: alloy steel 35CrMo with heat treating, Alternative stainless stée] with surface passivation

- Steel ball; bearing steel GCr15 with hard chrome plating. Alternative stainless steel 440C
- Race: nylon

Forleft-hand thread, piease add suffix” L, e.g PXFLS

BallDIA
REF

437
500
625
719
812
937
125
312
875
. 875
. 875

S~ 222200 ee o0

Cc
38
0. 562
0.750
0.750
0.937
1.062
1. 187
1. 500
1.750
2.125
2.125
2.125

“— THREAD
1} -
- F -
SECTION A-A
ERKG
Weight
BallDIA @’
50 REF ANGLE LUk
0.437 13 0.018
0.500 16 0.027
0.625 14 0.036
0.719 12 0083
0.812 14 0.086
0.937 12 0.140
1.125 16 0.204
1.312 14 0.304

SECTION

Thread
UNE28
10-32
1/4-28
5/16-24
3/8-24
7/16-20
1/2-20
5/8-18
3/4-46
11/4-12
1-14
1-12

anGLE

17
17

H#KG
Weight

018
027
041
063
086
140
204
313
957
LT

P

ecocoeooe

A R RXTHAPNM

Injection Molded Rod Ends PNM

Inch dimensions

Be Rk inch
Part No. Dimensions
N A B Cc D T

B o um gy Q0 o=
PNM3 10-32 1.250 0.1900 0.750 0.625 0.250
PNM4 1/4-28 1.562 0.2500 1.000 0.750 0.281
PNM5 5/16-24  1.875 0.3125 1.250 0.875 0.344
PNME 3/8-24 1.938 0.3750 1.250 1.000 0.408
PNMT 7/16-20 2.125 0.4375 1.375 1.125 0.437
PNMB 14220 2438 0.5000 1,500 1312 0.500
PNM10 5/8-18 2.625 0.6250 1.625 1.500 0.562
PNM12 3/4-16 2.875 0.7500 1.750 1.750 0.687

HRREELEA

- B RS REEEGE, TRETRREY  SERELE,
iR RGOS , MR, FEA40CT RN,

-AE . SARE.
ERERSE . WERSEE  MFHAENLINPNMLE

Material and surface trestments:
- Body: medium carbon steel 45. Zinc plating. Alternative stainless steel with surface passivation.
- Stee! ball: bearing steel GCr15. Hard chrome plating. Alternative stainless steel 440C

Race: nylan

For left-hand thread, please add suffix’ L* , e.9. PNMLE

BEFTEFRXTEHAPXM

High Loaded Injection Rod Ends PXM ©

Inch dimensions

0.437
0.500
0.562
0.625
0.750
0.875

BRs 2

‘Angla
0.437 13
0.500, 16
0.625 14
0.719 12
0.812 14
0.937 12
1125 16
1.312 14

BONGZHOU

e Rt inch
Part No. Dimensions
B w y A D Ball DIA C

swguis .08 w0005 b0t w00 Rer oo
PXM3 0. 1900 0.312 0.250 1250 0.825 0.437 0.750
PXM4 0. 2500 0.375 0.281 1.562 0.750 0.500 1.000
PXM4-5 0. 2500 0.375 0.281 1.875 0875 0.500 1.250
PXMS 0.3125 0. 437 0.344 1.875 0.875 0625 1.250
PXM5-6 0.3125 0.437 0.344 1.938 1.000 0.625 1.250
PXM& 0. 3750 0.500 0.408 1.938 1.000 0.719 1.250
PXM6-T 0.3750 0. 500 0.408 2,125 1.125 0719 1.375
PXMT 0. 4375 0. 562 0.437 2,125 1.125 0.812 1.378
PXM7-8 0. 4375 0.562 0.437 2.438 1.312 0.812 1.500
PXM8 05000 0.625 0.500 2.438 1.312 0,937 1.500
PXM8-10 0.5000 0.825 0.500 2.625 1.500 0.937 1.625
PXM8-12 0 5000 0. 750 0.562 2.875 1.750 0.937 1.750
PXM10 0.6250 0.750 0.562 2.625 1.500 1.125 1.625
PXM10-12 0. 6250 0.750 0.562 2.875 1.750 1.125 1750
PXM12 0. 7500 0.875 0.687 2.875 1.760 1.312 1.750
PXM12-14 0 7500 0.875 0.887 3.375 2.000 1.312 1.875
PXNi14 0. 8750 0.875 0.765 3.375 2.000 1.375 2.000
PXM16 1. 0000 1.875 1.000 4.125 2.750 1.875 2.125
PXM16-1 1. 0000 1.375 1.000 4.125 2.750 1.875 2125
PXM16-2 1 0000 1.375 1.000 4.125 2.750 1.875 2125

HENEWRBEL ¢

B A2RISOMo |, REESEEE, MRSTRNAME  FEQEE,
- AH - WFRGCr1S | MRS, DIEIS440CT IR,
-H  JARR,

- ERERE , DEDSEN  BEHENLPXMLE

Material and surface treatments:

- Body: alloy steel 35CrMa with Neat treating. Alternative stainless stee! with surface passivation,
- Steel ball: bearing steel GCr15 with hard chrome plating. Alternative stainless steel 440C

- Race: nylon

- Forleft-hand thread, please add suffix” L* &g, PXMLE

Thread
UNE-34
10-32
1/4-28
5/16-24
5/16-24
3/8-24
3/8-24
7/16-20
7/16-20
1/2-20
1/2-20
5/8-18
3/4-16
5/8-18
3/4-16
3/4-18
7i8-14
7i8-14
11/4-12
1-14
1-12

a

Mizatign
Angio

13
16
13

17

HEEKG
Weight

0.009
0.018
0.032
0.050
0.068
0.104
0.183
0.258

FERBKG
Weight

0.013
0.018
0.032
0.032
0.050
0.050
0.068
0.068
0.1
0.1
0.163
0.190
0.163
0.258
0,258
0.399
0.398
1.083
0.966
0.966

Spu3 poy MWHCLEUL

-42-




spu3 poy ﬂmxmﬂl

-43-

High Loaded Injection Rod Ends PMXF

<’
~ Mt Surisn
igamication
Graovs
L Lot Han Thiead
ericatian
Be Rt mm E#KG
Part No. Dimensions Weight
A w B Q’ BallDIA
04 suzs 028 s an wpes  wadh  Rer X
Lo LR 1 S
PMXF5 M5x0.8 27.00 16.00 1.00 14.00 9.00 6.25 8.00 5.00 14 11.10 0.019
PMXF6 Mex1.0 30.00 19.00 13.00 14.00 11.00 7.00 9.00 6.00 13° 12.70, 0.029
PMXF8  MBx1.25 3600 2225 1600 17.00 1400 B75 1200 800 18° 1588 0.051
PMXF10 M10415 4300 27.00 1900 2100 17.00 10.50 1400 1000 17° [19.05 0086
PMXF12 M12x1.75 50.00 30.00 22,00 24.00 19.00 1200 1600 1200 17° 2223 0.124
PMXF14  M14x2.0 57.00 3475 25.00 27.00 22.00 13.50 19.00 14.00 21" 25.40 0.184
PMXF16 M16%2.0 5400 3800 27.00 3300 2200 14.25 21.00 1600 23° 28.58 0.223
PMXF20 M20x15 77.00 4600 3400 4000 3000 1800 2500 2000 20° 34.93 0.436
HERNEEREAT :
BE SREISCMo , AREELE. TERTHANE , REEALE.

- RBIGCILS | S, SESA0CT IR,
Al mafRe,

S L

VST BF AL ADPMFL 8
Material and surface treatments:

Body: alloy steel 35CrMo with heat treating. Alternative stainless steel with surface passivation
- Steel ball. bearing steel GCr15 with hard chrome plating. Alternative stainless steel 440C

- Race: nylon

Forleft-hand thread, please add suffix’ 1" , e.g. PMXFLS,

High Loaded Injection Rod Ends PMXM

85 Rt mm
Part No. Dimensions

o % 2 2 2 i)

nraa w04 1025 o . saiign

£ ANGLE

PMXM5 M5x0.8 33.00 16.00 6.25 8.00 5.00 14°
PMXM6 M6x1.0 36.00 19.00 22,00 7.00 9.00 6.00 13°
PMXM8 M8x1.25 42.00 22.25 25.00 8.75 12.00 8.00 18°
PMXM10 M10x1.5 48.00 27.00 29.00 10.50 14.00 10.00 17
PMXM12 M12%x1.75 54.00 30.00 33.00 12.00 16.00 12.00 17°
PMXM14 M14x2.0 60.00 34.75 36.00 13.50 19.00 14.00 o
PMXM16 M16x2.0 66.00 38.00 40.00 14.25 21.00 16.00 23°
PMXM20 M20x1.5 78.00 46.00 47.00 18.00 25.00 20.00 20

Emelite,

ERERES, 1

FRVEE , MEHEALAPMXMLE.

Material and surface treatmants:
Body: alloy steel 35CeMo with heat treating. Altern
Steel ball: bearing stcel GCr15 with hard chrome pl
Race: nylon

@ stainless steel with surface passivation
Alternative stainless steel 440C

Forleft-hand thread, please add suffix” 1° , &g PMXMLE

Radial Spherical Plain Bearings GE..UK

Maintenance-free

Ball DIA
REF

11.10
12.70
15.88
49:05
22.23
25.40
28.58

3493

po G

- B -

g R mm TN
Part No. Dimensions Load ratings.
d D B (o4 d d Ry a fv'ldcvn f#z{al
GEB UK 6 14 6 4 -] 10, 0.3 0.3 13 3.8 81
GEB UK 8 16 8 5 10 13 0.3 0.3 15 5.8 14
GE10UK 10 19 9 6 13 16 0.3 0.3 12 8.8 21
GE12UK 12 22 10 o 15 18 0.3 0.3 10 " 28
GE15UK 15 26 12 ) 18 22 0.3 0.3 8 18 45
GE17 UK 17 30 14 10 20 25 08 03 10 22 56
GE 20 UK 20 35 16 12 24 29 0.3 0.3 L) 31 78
GE 25 UK 25 42 20 16 29 355 0.6 0.8 ¥ 51 127
GE 30 UK 30 47 22 18 34 407 0.6 0.6 6 65 166

EEEE 8/ PTFESEM.
M AR
SHEE] APTFESRLHEL
FIE .

Sliding contact surfaces: steel / PTFE composita fiaterial
- Outerring is pressed around inner ring
- Quter race is lined with PTFE composite material
- Spherical surface of inner ring is chromium plated,

Z Rt Aores dar b st VIGE  DONGZHOUCOMPANGL & REZ FEoisdiaase b Sl A NUIE - DONGZHOUSOUSSR] |

¥ #8KG
Weight

0.012
0.018
0.034
0.058
0.083
0.127
0.170

0318

ZJoLeeSetiz A MULg 0 DONGEHOUCOMPANY

& RBKG
Weight

0.004
0.008
0.011
0.015
0.027
0.041
0.066
0.119
0.163

spu3j poy ﬂlﬁ&*aﬁﬂl

-44-

sbulieag ule|d [ea1ayds [e1pey m&ae\'mﬁ?ll

-46-



sbuiieag uie|d [earayds |eipey quwl

a7-

sbulieag uie|d [ed1ayds [eipey IMWETI

-49-

LR HRG.PW

Radial Spherical Plain Bearings G..PW

Maintenance-free

#e Rt mm TAFIKN ERKG
Part No. Dimensions Load ratings Weight
d d, B C ] d. a Fdyn. #stat
¢ c K
G5PW 5 T 8 6 13 11.113 13 6.2 17 0.007
G6PW [ 8.9 9 6.75 16 12.700 13 7.5 22 0.010
GBPW B 10.3 12 ) 19 15.875 13 12 36 0.016
G10PW 10 12.9 14 10.5 22 18.050 13 17 50 0.031
G12PW 12 15.4 16 12 26 22.225 13 22 87 0.065
G14PW 14 16.8 19 13.5 28 25.400 15 28 86 0.090
G16PW 16 19.3 21 15 32 28.575 15 35 107 0.100
G18PW 18 21.8 23 16.5 35 31.750 15 47 131 0.125
G20PW 20 24.3 25 18 40 34.925 15 51 157 0.180
G22PW 22 258 28 20 42 38.100 15 62 191 0.210
G25PW 25 29.5 31 22 47 42.850 15 7 236 0.295
G 30 PW 30 34.8 a7 25 55 50.800 15 103 318 0.425
G35PW 35 arT 43 28 B2 57.100 16 130 400 0.500
G40 PW 40 45.2 49 33 75 66.600 17 179 550 0.900
G50 PW 50 56.6 60 45 90 82.500 12 302 928 1.640
R 15, Fad , o FE, SE RS RGC AW

BB EARING? , WERATHHAOCKIEM | ABFIERHPTIE, SEMH , HUSRG PWSS,
- ESHEHEARAZ0 , WRETEGCLS , FRE , SHEREMMAPTFE , AELHH | LEEHST PW,
- BOHERH B H304TRE , BRI AAA0CRER | MR IIERRPTRE, SalHH | HESRSS. PW,

Out ring In brass H62: steel ball in bearing steel GCr15 withaut chramium plating;
out race is ined with PTFE composite material, the model is G.PW.

1fout ring in brass H62; steel ball in stainless steal 440C.

out race is lined with PTFE composite material, the model is G. PWSS.
- Ifout ring in carbon steel 20; steel ballin bearing steel GCr15 without chromium plating:
out race is ined with PTFE composite material, the model is ST, PW.
- Wout ring in stainless steel 304, steel ball in stainless steel 440C;

out race is lined with PTFE composite material, the model is 55 PW.

DONGZHOUC

L% HHRCOM..T / HCOM..T
Radial Spherical Plain Bearings COM..T / HCOM..T

Maintenance-free, inch dimensions

P AN

vd X HiARCOM.. / HCOM..

BE
Part No.

com3aT
coM4T
COMS5T
COMGBT
com7T
COMBT
comaT
com10T
comi2T
COM14T
COM16T
HCOM 16T
HCOM19 T
HCOM20 T
HCOM 24T
HCOM28 T
HCOM 32T

4.826
6.350
7.938
9.525
11.113
12.700
14.288
15.875
19.050
22.225
25.400
25.400
30.163
31.750
38.100
44.450
50,800

- BRI ; 91/ PTREARAH
SHEHE RS OEEESEREGC1S | WS

- SRS
SEHERBPTFESAMN
- REEN

7.44

9.25
10.64
1311
13.46
16.26
18.03
19.81
23.37
2489
28.40
34.54
40.89
40.89
47.24
53.59
59.94

7.14

871
9.53
10.31
11.10
12.70
14.27
15.88
19.06
2223
25.40
25.40
30.185
30.15
3493
39.67
44.45

- Sliding contact surfaces: steel / PTFE composite material.
Outer ring is carbon steel; Inner ring is bearing steel GCrlS with hard chrome plating

- Outer ring is pressed around inner ring

Outer race lined with PTFE composite material

Dimensions in inches.

R mm
Dimensions
C D

5.54 14.29
6.35 16,67
7.14 19.05
7.92 20.64
8.71 23.02
9.91 25.40
11.10 27.78
12.70 30.16
16.08 36.51
17.86 39.69
20.24 44.45
19.84 50.80
23.80 60.33
23.80 60.33
27.79 69.85
31.75 79.38
34.93 88.90

10.31
12,70
14.27
16.66
17.45
20.65
23.01
25.40
30.15
33.32
38.10
42.85
50.80
50.80
58.72
66.68
74.80

0.381
0.560
0.810
0.810
0.810
0.810
0.810
0.810
1.120
1.120
1.120
0.810
0.810
0.810
0.810
1.120
1,120

11
135
12
10
8.0
9.5
9.5
8.5
8.0
95

9.0
8.5
85
85
8.0
85

21.68
33.02
43.20
56.04
63.07
8839
110.94
14196
212.94
279.93
368.25
472.46
672.00
672.00
906.96
1176.61
1448.06

= Umixas ™

ERKG
Weight

0.006
0.010
0.014
0.017
0.021
0.029
0.039
0.050
0.092
0.119
0.175
0251
0.406
0.406
0.616
0.884
1.198

Radial Spherical Plain Bearings COM.. / HCOM..

Maintenance required, inch dimensions

ne Rt mm
Part No. Dimensions
d d, B Cc D d, m

com3 4.826 7.44 714 5.54 14.29 10.31 0.381
com4 6.350 9.25 8.71 6.35 16.67. 12.70 0.560
coms 7.938 10.64 9.53 7.14 19.05 14.27 0.810
COM& 9.525 13.1 10.31 T.92 20.64 1666 0.810
com7 11.113 13.486 11.10 8.71 23.02 17.45 0.810
coms 12.700 16.26 12.70 .91 25.40 20.65 0.810
coms 14.288 18.03 14.27 11.10 27.78 23.01 0.810
COM 10 15.875 19.81 15.88 12.70 30.16 2540 0.810
coM12 19.050 23.37 19.05 15.08 36.51 3015 1.120
COM 14 22.225 2489 2223 17.86 39.69 33.32 1.120
COM 16 25,400 28.40 25.40 20.24 44.45 38.10 1.120
HCOM 16 25.400 34.54 2540 19.84 50.80 42.85 0.810
HCOM 19 30.163 40.89 30.15 23.80 60.33 50.80 0.810
HCOM 20 31.750 40.89 3015 23.80 60.33 50.80 0.810
HCOM 24 38,100 47.24 34.93 27.79 69.85 58.72 0.810
HCOM 28 44.450 53159 39.67 31.75 79.38 66.68 1.120
HCOM 32 50.800 59.94 44.45 34.93 88.90 74.80 1.120

RER T W/

SHEH BT | 9B ARG Cr15

RIS

SmBERamET

BHRT

Sliding contact surfaces: steel / steel
Outer ring is carbon steel; Inner ring is bearing steel GCr15 with hard chrome plating
Outer ring is pressed around inner ring.

- Lubricating groove and holes in the outer ring
Dimensions in inches.

Radial Spherical Plain Bearings GE..E / GE..ES / GE..ES-2RS

A WX HRGE..E / GE..ES / GE..ES-2RS AN

n
13.5
12
10
B.0
9.5
9.5
8.5
9.0
95
10
8.0
8.5
8.5
8.5
8.0
8.5

DONGZH@UIC QWP;

14,464
22.015
28.800
37.361
42.048
58,934
73.967
94.658
141.982
186.639
245.534
315.010
448.049
448.049
604.710
784.495
965.485

GE..E GE..ES
Be Rt mm
Part No. Dimensions
d D B G d, f. [ a

GE4E 4 12 5 3 8 0.3 0.3 16
GESE 5 14 ] 4 10 0.3 03 13
GEGE 6 14 8 4 10 0.3 0.3 13
GESE 8 16 8 5 13 0.3 0.3 15
GE10E 10 18 9 8 18 0.3 03 12
GE12E 12 22 10 i 18 0.3 0.3 10
GE15ES  GE15ES-2ZRS 15 28 12 9 22 0.3 0.3 8
GE17ES  GE17ES-2RS 17 30 14 10 25 0.3 0.3 10
GE20ES GE20ES-2RS 20 a5 16 12 28 03 03 9
GE25ES  GE25ES-2RS 25 42 20 16 355 0.6 06 7
GE30ES GE30ES-2RS 30 47 22 18 40.7 0.6 0.6 6
GE35ES  GE35ES-2RS 35 55 25 20 47 0.8 1 6
GE40ES  GE40ES-2RS 40 62 28 22 53 0.6 1 T
GE45ES  GE4SES-2RS 45 68 32 25 60 0.6 1 7
GES0ES  GESOES-2RS 50 75 35 28 66 06 1 8
GE5S5ES  GES55ES-2RS 55 85 40 32 74 0.6 1 7
GEGOES  GEGOES-2RS 60 80 44 36 80 1 1 6
GET0ES  GE7DES-2RS 70 105 49 40 92 1 1 6
GEBOES  GEBOES-2RS 80 120 55 45 105 1 1 6
GE90ES  GE90ES-2RS 90 130 60 50 115 1 1 5
GE100ES GE100ES-2RS 100 150 70 55 130 1 i ¢ 7
GE110ES GE110ES-2RS 110 160 70 55 140 1 1 8
GE120ES GE120ES-2RS 120 180 85 70 160 i 1 8
GE140ES GE140ES-2RS 140 210 90 70 180 1 1 7
GE160ES GE160ES-2RS 160 230 105 80 200 1 1 8
GE180ES GE180ES-2RS 180 260 105 80 225 1.1 1.1 6
GE200ES GE200ES-2RS 200 290 130 100 250 1.4 1 7

A - 1/

PSR AR | RESLE

S BE— B

ESHA BRI,

RSB BT B4

Sliding contact surfaces: steel / steel
Both outer and inner rings are ball bearing stégls, with praper phasphate traatment
OQuter ring with single split in axial direction

Lubricating gracves and holes in the cuter and inner rings of type ES.

Outer ring of type 2RS with lip seals in both sides

ERKG
Weight

0.006
0.010
0.014
0.017
0.021
0.029
0.039
0.050
0.093
0.118
0.175
0.251
0.406
0.406
0.618
0.884
1.198

GE..ES-2RS
FEHFKN B BKG
Loadratings  Weight
RS MR

Dynamic Static £
2 10 0.003
3.4 17 0.005
34 17 0.004
5.5 27 0.008
8.1 40 0.011
10 53 0.015
16 84 0.027
21 108 0.041
30 146 0.066
48 240 0.119
62 310 0.153
79 399 0.233
99 495 0.308
127 637 0.427
156 780 0.546
200 1000 0.939
245 1220 1.040
313 1580 1.550
400 2000 2310
488 | 2440 2.750
807 3030 4.450
654 3270 4.820
850 4750 8.050
1070 5350  11.020
1360 6800  14.010
1530 7650 18.650
2120 10600 28.030

amtﬂl

sBurieag uie|d [ea11ayds (e1pey el

.48-

sbuiieag uie|d |eauayds [eipey mﬁq@l

-50-



BREEDIN71805
Ball Sockets DIN71805

R mm i BKG
Dimensions ..,,m‘!!E.iﬂf'fE,.,,.
d, ds dy d, e I A B
s o5 ni max 04
8 M5 22 8 12.8 10.2 15 6.3 9.0 8.8
10 M6 25 10 14.8 1.5 17 7.0 14.2 14.1
13 M8 30 13 19.3 14.0 20 9.1 29.0 28.8
16 M10 35 16 24.0 15.5 22 1.4 57.0 56.8
16 M12 35 16 24.0 15.5 22 11.4 57.0 56.8
19 M 1431.5 45 22 30.0 21.5 28 12,5 125.0 1248
19 M14x2 45 22 300 215 28 12.5 125.0 124.8
19 M16 a5 22 30.0 21.5 28 12.6 1250 124.8

1) ARFIES £ ., BRAEHNE.
2) UEMES.
1) TRERDDE AL,

HHMEELRAR
1) (ER$IQ235A, REEE.
2) TEAFSEI0A, TEINI03  FHE316, FEIEHLE.

1) Type Bwith safety clip
2) Alternative with left-hand thread
3) Alternative with spanner surface or hexagon surface

Material and surface treatments:

1) Low carbon steel Q235A. Zine plating
2) Alternative stainless steel 304, stainless steal 303 or stainless steel 316 Surface phssivation.

-54-

syujor |jeg mﬁl

EHRIRIEDINT 1802

Angle Joints DIN71802

Type AAS

Type BIBS

Type CICS

R mm ERKG
Dimensions. Weil
1000 pachetoe g
Aand AS
i 4 " I, e d Iy sw Band BS
3 A N CandCS
40 1285
8 M5 02 9 10.2 5 P 22 T 15.20 1
45 2130
10 M6 12.5 1 1.5 6 RS 25 8 25.20 piped
13 M8 165 13 140 8 b 20 1 53.10 i
= % Ll 20.0 16 15.5 10 se 35 13 103.8 220
Wiz 12 8660
e
g 19 rEret) 280 20 215 14 7] 45 16 220.9 150
LRl
@
=
=
ok
5
2
@
1)A,. B, CREME®EHE | AS, BS. CSRIEMHSEME,
2)C. CSRAELMARETFH
I EaEEmE T
4 ) i k.
5 ) FRRAETEIE.
&) ERAERRME.
B
A0 BR  PECIAS L B ERIEQ2ISA R, SHE PR, REWRGE.
2) SRR IR0, FRIRI08  FRWELE, RERLE.
1) Type A._B. Cwithout safety clip on the ball socket
Type &, BS, €5 with safety clip on the bal sacket
2) Ballstud of Tyfe €. CS with spannér surface
3) Alternative left-hand thread for the ball seeket.
4) Ball sacket with r without sganner surface o hexagon surface as required
5) Ball stud with or withoutSealing cap as required.
61 Ballstud with or without nut a5 jéguired
Materisl and surface treatments:
1) Ball stud: medium earbon steel 45: Ball sockét low carbon steel G235A; Snap ring and safety elip: spring steel. Zinc plating
2) Alternative stainless steel 304, stiinless sleel 303 or stainless steel 316, Surface passivation
_53-

ERsLE5DIN71803

Ball Studs DIN71803

= e e4"

DONGZHOU

balld.

R5Fmm
Dimensions

d

| d, I, c d, B .
w aagfl o Ll o 4 z0n
8 M5 w A e 3 n2 B 126
10 M6 iy W .¥ L 4 125 11 155
13 M8 N Wy 1y = 6 1865 13 185
L e 27 16410 (8 200 18 230
waxas gz
i<z : 30 19 14 10 280 20 285

siuior jjeg Wﬂl
5

1) ARBESFFE , B89
BRIFHFTE , TR
CRABINTTR , R,
2) BREEPAMEA N FHRCS2 , BHREF T 1mm

HENEELES
1) s, BEEE,
2/ EIEAFERI0A , FHE03 , FRAI16, WEALLE,

1) Tyfie A without spiinner surface, with thread
Type B ithout spariner surface, without thread
Type € with spanner surface, with thread

2) The hardness 6f ball d1: MindHRES2; Hardening depth: Min.1mm,

Material and surface treatments:

1) Medium carbon stesl 45 Zinc plating
2) Alternative stainliss steel 304, stainfes steel 303 ofstainless steel 316. Surface passivation

-55.

COMPAN®

Type C

SW_

H#KG

Weight
Ka/ 1008 pacas o e
I sw AandC B

mn o n

3.85
40 7 455 i
7.10
40 8 8.50 i
14z
53 11 177 i
15
73 13 35.1 44
108 16 71.2 o



BEFFAZERIEDINT 1802 BRSLERIBESFR T BONGZHOU
Axial Joints Similar to DIN71802 Ball Joints ES series ©

o~

35° Min Cone
d.

Yoo

T ]
e — |

§
s Rt mm F75 B A(N) T RKG 3 F st inch S|OdEL ®AOBEND
PartNo. Dimensions Extraction force FinN Weight Part No. Dimension Min Pull Test(ib] Min Shear(ib)
d, d; a L I e d, d; d, L, 5 L L. Ly S J
" Ko sefece
AX-CBMS5 8 M5 22 19.2 9 10.2 30 0.0152 ES187 10-32-2B  10-32-2A  0.375 0.438 0438 0438 0875 1.063 0.313 0313 400 400
AX-C10M6 10 M6 25 235 1 1.5 40 0.0252 ES250 1/4-28-28  1/4-28-2A 0438 0.563 0.469 0800 0.968 1218 0375 0375 500 500
AX-C13MB 13 M8 30 285 13 14.0 80 0.0531 ES312 5/16-24-2B  5/16-24-2A 0.500 0.688 0.531 0.563 1.125 1.406 0.438 0.438 650 800
AX-C16M10 18 M10 35 36.0 18 15.5 80 0.1038 ES375 3/8-24-2B  3/8-24-2A 0625 0875 0888 0.7501.375  1.688 0.500 0.500 1000 800
Ax-cromtaxy s 19 M14x15 45 48.0 20 215 100 0.2209 ES438  7/16-20-2B  7/16-20-2A 0750 1.125 0.875 1.000 1.938 2375 0.625 0625 2000 2400
ES500  1/2-20-2B  1/2-20-2A  0.750 1.125 0.875 1.000 1.938 2375 0.626 0625 2000 2500
1) EETREET,
2) AR,
3 TamEEW iy
AR 3) WA , EHRE,
HEOSELRALT 4) iR THEM,
1) M PR A4S B [EEINQ235A | mF. StF . REE. RIEWLE.
HHREELES :
2) AmAR 304 , RIREI03 | F 316, WERALE.
AT B S y 1) HREE | PRSI pBs, SEAE. el wm.
2) EEAFH04 , TRI303 , RUREIS1G, RIS,
1) Alternative left-hand thread for the ball socket.
2) Ball socket with or without spanner surface or hexagon surface as required. 1) Extruded structure,
2|k o without ssaling cap s reauired 2) Alternative left-hand thread for the ball socket
4) With'ob withoutcag aérecuired 3) Filled with lubricant o s to circle swing agllely withaiit any block
) Unless otherwise specified, all dimensions in inches
Material and surface treatments:
1) Ball stud: medium carbon steel 45; Ball socket: low carbon steel Q235A; Snap ring and safety lip: spring steel. Zine plating Material and surface treatments:
2) Alternative stainless steel 304, stainless steel 303 of stainless steel 316, Surface passivation 1) Ball socket: medium carban steel 45; Ball stud: medium carbon steel 45. Zinc plating. Sealifig cap: rubber,
2) Alternative stainless steel 304, stainless steel 303 or stainless steel 316. Surface passivation.
-56-
-57-
BRELBRISFSRTI . BRSLBRIZQIRT
Ball Joints FS series ! Ball Joints QI series s
i
-
i S
[ 35
3l
bl Y
Ls|
#e Rt inch Q'J"mﬂ” ldﬁ‘ﬁ-’m e Rt inch ®AmEN ROERSD
Part No. Dimension Pull Tesi(lb)  Shear{ib) Part No. Dimensions. Min. Pull Test  Min. Shear
d, d; d, 1] ks Ly L, Ly s h J D, D. A _C F G J L M N P S
FS187 10-32-28  10-32-2A 0438 0438 0469 0438 0969 1.219 0375 0.125 0375 1000 500 QI 187 10-32-2B  10-32-2A 125 083 .4375 4375 3125 4375 1.094 0063 .4375 250 430 500
FS250 1/4-28-2B  1/4-28-2A 0438 0.563 0.469 0.500 0.959 1.219 0.375 0.125 0.376 1000 700 QI250 1/4-28-28 1/4-28-2A .125 (063 4690 5620 .3750 5620 1.250 .9690 610 .350 560 500
FS312 5/16-24-2B 5/16-24-2A 0,500 0.688 0.531 0.563 1.125 1.406 0.438 0,156 0.438 1575 900 QI 312 5/16-24-2B 5/16-24-2A .156 .094 5310 6870 .4370 6250 1.453 1.1250 .630 438 1000 1500
FS375 3/8-24-2B  3/8-24-2A 0.625 0.675 0.688 0.750 1.375 1.688 0.500 0.188 0.500 1700 1700 Q1375 3/8-24-28 3/8-24-2A 187 .094 6870 .8750 .5000 (7500 1.760 1.3750 812 .470 1580 2400
FS500 1/2-20-2B  1/2:20-2A 0.750 1.126 0.875 1.000 1.938 2.375 0.625 0.250 0.625 1900 2700 QI500 1/2-20-28 1/2-20-2A .250 .094 .8750 1.125 6250 1.000 2.530 2.0300 1.000 570 2400 2700
gz
— =
2 2
B L
@ @
1) Wik, 1) EFTTEAES.
2) ERTEAET. 2 AREE SR,
3) DR . TR 3) BlR Y B
4) FARTHEM,
RO -
HERAR RS - 1) B ISHQ23SA . BkE | ERLBIS ; SV - R0, BEELE. 20 - FREB04,
1) A | BIAS ; RSk - PERIAS | VR B, BEWW. HER BR. 2) BRHE L ETE AARR304 . RAF303 , FBO316, B,
2) TTRAFEEI0L , FEWI0I . FIEVIL6, FHA(IE, 3) BEORANT e . SEBENEAE,
1) The structure with snap ring 1) Alternative left-hand thread for the ball sacket
2) Alternative left-hand thread for the ball socket. 2) Filled with lubricant s0@s to circle swing agilely without any block.
3) Filled with lubricant so as to circle swing agilely without any block 3} Unless atherwise specified, 21l dimensions iffiiches.
4} Unless otherwise specified, all dimensions in inches,
Material and surface treatments:
Material and surface treatments: 1) Ball socket: low carbon steel Q235A; Ball stud: meditm carbon steel 45; Shell: low carban steel 20. Zinc plating. Spring: stainless steel 304.
1) Ball socket: medium carbon steel 45; Ball stud: medium carbon steel 45; Snap ringiépring steel Zino plating: Sealing cap: rubber. 2) Ball socket and ball stud: altefnative stainless steel 304, stainless steel 303 or stainless steel 316. Surface passivation
2) teel 304, staink teel 303 or stainless steel 316 Surface passivation 3) Ball socket and ball stud: alternative aluminum 6061 with anodic oxidation treatment.

-58- 59-



BRSLERIRPIZRT

A BRLIKIEQDFSY

Ball Joints QD series " = Ball Joints Pl series *

-
N | 8
J(HEX.) & "I
AL A
30" Min. Cone
s Rt inch RpEEN ROBED s J&st inch
PartNo. Dimensions Min Pull Test  Min. Shear Part No. Dimensions
D, D. A Cc F G d L M N P D. D, F G J L M N P
i w
QD187 10-32-2B  10-32-2A 125 083 .438 438 .312 438 1.094 906 438 430 650 PI-3-3 10-32-28 10-32-2A 438 438 3125 3125 1.156 B75 484
QD250 1/428-28  1/4-28-2A 125 083 469 562 (375 .562 1250 969 531 950 800 Pl-3-4 10-32-2B  1/4-28-2A 438 563 3128 3125 1.158 875 484
QD312 5/16-24-2B 5/16-24-2A 156 .094 531 .687 437 .625 1.453 1.125 .605 1000 1000 Pl-4-3 1/4-28-2B 10-32-2A 438 438 3125 3125 1.250 .969 531
QD375 | 3/8-24-2B  3/8-24-2A 1B .094 .687 .875 .500 .750 1.750 1.376 .812 1250 1250 Pl-4-4 1/4-28-28  1/4-28-2A 438 563 3128 3125 1250 .969 531
QD500 1/2-20-2B  1/2-20-2A 250 .094 .875 1.125 .625 1.000 2.530 2.030 1.000 1900 2000 i Pl-4L-4L  1/4-28-2B  1/4-28-2A 562 500 3125 3400 1.750 1.500 1.120
g
=
—
9.
B
@
1) EAABRES.
2) PN , MHRE. 1) BNTHRAET,
3) FERTHEM. 2) s . FanRis
3) AARTARY,
HHARELRS L
1) BRAE : EBRRQ235A { SIS | PRERAS | SV | (EBIR20. BN, WM TR0, HROEELEE -
2) HEMRLHTRETENI04  FRE0  FHMI6, EMEAELLE. 1) B - EMRQ235A  RMEIRLE , AT ANE04 , THI303, FWIA316 , RMITHLE,
3) WEAIEL M T MIS6061, BEEERRELR. 2) WAH  EEWQ2ISA  REUELE | THAFERI04, THWI  FHEWL6  FERHLE.
3) #EEC EEE ERERAELRE.
1) Alternative left-hand thread far the ball sacket 1) Alternative left-hand thread for the ball socket.
2) Filled with lubricant so as ta circle swing agilely withaut any black. 2) Filled with lubricant so as to circle swing agilely without any block
3) Unless otherwise specified, all dimensions in inches. 3) Unless otherwise specified, all dimensions in inches
Material and surface treatments: Material and surface treatments:
1) Ball socket: low carbon steel Q235A; Ball stud: medium carban steel 45; Shell: low carban steel 20. Zinc plating. Spring: stainless steel 304 1) Ball socket: low carbon steel Q2354 , Zine plating. Alternative stainless steel 304, stainless steel 303 or stainless steel 316 with surface passivatian
2) Ball sacket andball stud: alternative stainless steel 304, stainless steel 303 or stainless steel 316. Surface passivation, 2) Ball stud: fow carbon steel Q2354, Zinc plating. Alternative stainless steel 304, stainless steel 303 or stainless steel 316 with surface passivation.
3) Ball socket aind ball stud: alternative aluminum 6061 with anadic oxidation treatmant 3) Retaining.clip: spring stesl, Zinc plating or dacromet,
-60- 61
3 &
r4 BRELEKIEDC/DHERT BRSLERIEBLMERS)
Ball Joints DC/DH series mmm Ball Joints BLM series
DH series
ke 40° Min Cone
s v J(HEX.
£ = °
]
He Rstinch BELT Be st mm kN EEKG
Part No. Dimension Puil’T‘el:l(\h} Part No. Dimensions Loadratings Weight
D D. L L. i L. L, J W S
THREAD A B c o o (5 b5 o5 e s 03 23 T e
DC-3F-312-320 10-32-2B 0.250 0.312 0.320 250 BLMS M5x0.8 M5x0.8 8.0 100 200 140 270 80 100 10.000 2.0 0.017
DC-4F-437-320 1/4-28-28B 0.328 0.437 0.320 250 BLM5SLH  M5X0.8-LH M5%0.8 80 100 200 140 270 80 100 10.000 2.0 0.017
DC-4F-562-320 1/4-28-28 0.500 0.562 0.320 250 BLM& MBx1 M6 1 110 110 260 160 300 10.0 1.0 11112 3.9 0.027
DC-4C-437-320 1/4-20-28 0.328 0.437 0.320 250 BLMBLH  MBX1-LH MBx1 1.0 110 2600 1604 300 100 110 11112 39 0.027
DC-4C-562-320 1/4-20-28 0.453 0.562 0.320 250 BLM8 MBx1.25 M8x1.25 120 140 310 190 360 120 140 12700 6.0 0.057
DC-5F-625-320 5/16-24-28 0.516 0.625 0.320 250 d BLMBLH  MBX1.25.LH M8x1.25 120 140 '31.0 7190 360 120 140 12700 6.0 0.057
@
DC-5F-750-320 5/16-24-28 0.641 0.750 0.320 250 g BLM10 M10%1.5 M10X15 210 17.0 43.0 23.0 430 140 170 15875 11.0 0.095
=
DH-4F-562-257 1/4-28-28 0.500 0.562 0.257 250 S, BLM10LH  M10x1.5-LH  M10x1.5 210 17.0 43.0 280 430 140 17.0 15875 11.0 0.095
=4
DH-4C-437-257 1/4-20-28 0.328 0.437 0.257 250 @ BLM12 M12X1.75 M12X1.75 240 19.0 490 2860 500 170 19.0 19.050 160 0.165
BLM12LH  M12x1.75-LH M12x1.75 240 180 49.0 260 50.0 170  19.0 19.050 16.0 0.165
BLM14 M14x2 M14%2 28.0 215 620 300 67.0 190 22.0 22226 19.0 0.300
BLM14LH  M14X2-LH M14x2 280 215 62.0 300 57.0 19.0 22,0 22225 19.0 0.300
BLM16 M16x2 M16x2 29.0 235 66.0 340 640 220 240 22225 26.0 0.325
BLM16LH  M16X2-LH M16x2 290 235 660 340 640 220 240 22225 (260 0.325
I RARE | TR
2\ EHRAE SRR,
1) AR | NS 3 ) BERIERSQC/TE7199585K,
2) FERT Y,
HEREELEST £
HEEELEA el gy Al
1) BEKITRE | EREQISA , NEEN ; TRAFREI04, FHRI03 , R0 , AR, S
Vel - @R,
2) BEIRE  THRE,
1) Move smoothly withdut stagnation
1) Filled with lubricant 50 35 ta circle swing agilely without any block 2) Adequate lubricant should be filled into bl socket
2) Unless otherwise specified, all dimensions in inches 3) Accard with QC/T327-18%9 and relevant sandards
Material and surface treatments: Mitsiien kot ace sty

1) Ball socket: high intensive zincalloy. Natural color
2) Ball stud: 40Cr ailoy steel. Zing plating.
3) Sealing cap: Neoprene rubber.

1) Ball socket & ball stud: low carbon steel Q2354, Zinc plating. Alternative stainless steel 304, stainless steel 303 of staipless steel 316 with surface passivation
2) Rubber disc: Buna-N.

-62- -63-



71 32522BRK/BDKZE7%! DONGZHOUCOMPANY [ |
Brackets BRK/BDK series

Type BREK

s Rt mm
Part No. Dimensions
A B C D EFG H I J K L M N OP Q R S T X v
BRKS5558 19.2 29° 10 10 12 3 17 245 70 7.5 125 25 275 55 6.6 6.5 |/ [ ! ! !
BRK4263 20 30 10 10 12073 47 245 70 7.5 125 25 275 55 4.3 65 |/ [ ! !
BDK4266 / 10 | t 3 I ! 70 7.5 125 26 275 55 It / 6.5 4.3 30 475 M8 16
BDK4696 ! o100 I 24 ! 70 7.5 125 25 275 55 / |/ 65 6.6 30 475 M8 16



v DONGZHOU
,%—Z COMPANY

www.nbdongzhou.cn

NINGBO DONGZHOU TRANSMISSION CO., LTD.
TRENENHRRAR

N

»

e

Email: market@hkdongzhou.com

Wechat/whatsapp:+8613345999876

R

o O






